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L. In an experunent four quantities a, &, © and f are
maasured with percentage ervor 1%, 2%, 3% and 4%
respectively, Chuantity P is caleulated as tollows :

_

ol

% error in P is

P

1) 14%
) -
Answer (1)

(2} 10%
(4] 4%

2t
50l F=——r0oH
oif

- ones )2

1m]+
[%+1m]+[%um}
=3x]l+2x2+3+4
=3 +d+3+d=1%
2 The velocily of a projectle al the initial peint A is
.[:’.:'-l-j] w5, Its velocdty (moms) at poant B s

-
B
A X
1) -2i-3 2 -2i+3
@ 21-3j 4} 2H+3f
Answer (3]

Sol. X component remain unchanged and T component
TEVerses,

3. A stone falls freely under gravity. It covers distances
i'll_. Ir: and JI_, ity the lirst 5 seconds, the next
3 seconds and the next 5 seconds respectively, The
relation between by, I, and I, is

1) by =, = 3y

2 ?':=F;—’=%
{31 hy = My and by, = 3,
4) hy=iy=hy

Answer (2]

Sol. M :lyihy=1:3:5

1. T W H AW 0 o b o T A F A (A
I FET 1%, 2%, 3% T 4% F AT FE # v A

P WA Fetalae v A oftstEg B oae
A
puk
od
& p¥ W ¥ e ) FE e
(1} 14% (2) 10%
3 7% (4 4%
I (1)
I3
- F_nh

od
AP f Ag Y L
= Fnlm-Bl?nlml|+2l?xlﬂﬂl|+
F I !
(24100 |+ 22 100 |
Le P )
=3x]4FuD+3+4
=3+4+3+4=14%
el s aeteE B A W WM (2043 mis
& = w7 B B W 3 (mis %) w0

[

y
A E X
)y —2f —3f 1 -Zi+3f
3 2-3] W 2+3]
T (3

W X e Fiata & aw v e i 9
3 UF R [ W e e e gew we
¥ (5) #=FH H o0, TH, IE W 5 HFA A Ny
T T T A 5 T A 4, T O Fw A, A
.l|:P h:ﬁmlpﬂim i‘.
(1) ky =, = 3,

i |_=‘

(2) JrL=H—’=
3
(3 Ty = 3, TN B, = 3,
() ky =h,=h,
TR (2)
T Ry cMychy=1:3:-5
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Three blocks with masses m, Zm and 3m age
connected by strings, as shown m the hgure, Alter
an wpward boree F 15 apphed on block m, the masses
move wpward at constant speed 7. What 15 the net
force an the block of mass 2 m?

{2 15 the acceleration due o gravity)

F 1'r.-

{1} Zero
2] 2mg
3 3mg
) amg

Answer (1)

Sol. All Blocks ase movag with constant velocaty so met

towee o all Blocks are zero,

The upper half of an mehned plane of inchmation 8
12 perfectly smooth while lower hall 15 vough.
A block stasting brom rest at the top of the plae will
again come to rest at the bottom, if the coefficient of
friction betwean the block and lower half of the
plane is given by

g =iEl (JEEl) § T T m,mﬁiﬁ.

4,
T @ () & = W s W g ow
=iF 9 FE W W FA A W, W 1w
fem i od o W s Al w8 2 T
¥ wliF W A a9 B &0 (g aeeim = #)
ftﬂ
[}
2
EX
(1 4
(2} 2mg
(3 3mg
4} 6mg
I (1)

ww: Wi wiw e d & afadie § e o oW oA

a

T g #)

Tl 9 - T o ) T S A e
qria: fawan # A4 e osmn mREa #) ow@
F-wwaE F Fe A TR S (qew) A9 oA
i Traer &1 o e R W P feafy & o
A, ey vy, @ F-TEE A w e e
e i W W O A - &

- 1 T WA & A W I A A
" ban B |
- 5 (1} p__banﬂ
T
L) B
(3 p=1tan @ tan i
4] p=tan@ (3 p=1tanB
[ =
Answer [_:I-] A U=t B
T (3
Lf2 L/2
Sol. [_-"l T II-.-'ll
s
i L i L
mgsmb-L =iu|rgcosﬁx: itigsind L= pnigeosfx—
=23ﬁ13=1m1.ﬂ p:gsmﬂ=2hmﬁ
oos B cos b
3
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. ﬂmjtmmfmma[[35+}]muchmiapaﬂ:du
of mass } ks. Hence the P.urtl'cir is d'.i.-s-]:!].lccd trom
position (20 +k) metre to position |_Ji+3,i l]
metre. The work done by the torce on the particle 15
1) 9]

{21 6]
{31 137
4 15]

Answer (1)

Sol. ?=3t+.'l §=r‘_-:‘l =1I—‘_"n_|'—.2£
W=Fi=6+3+0=0]

7. An explosion breaks a rock mto three pasts m a
horizontal plane. Two of them go off at night angles
to each other. The first part of mass 1 kg moves with
nspﬂ:duf lﬁnu"'.l.ndl'hrmnndputofmnm JL:E
moves with § mst spead, If the therd part flies otf
with 4 ma speed, then its mass is
{1 3kg
Q) 5kg
o) Ths
M 17k

Answer (2

Sol P +F+R=0

= 1x12+2x8j+F =0
B, =—(12i + 187}
P, =127 £ 187 = 20 Lkg s

iy = L =5kg
Ty

6 Tl o ow mE 0 kg B mow w304 )
1 WEAAA 9 T B EE wen Fb| 2 E
Enol | {J.I+3;-J&]ﬂz?ﬁwﬁri‘ﬁmﬁilﬁh
# W v o F
{1y 91
i 6l
@ 13]

4 157

(1)

LL.H .F=3I:d-_i .§=_=—F|_=2r:+3._;-i_ﬂ
W=FIzgs3:0=0]

7. fEE dfw e foow aEE ¥ e oaem
T A o B A R ow I A AW
T AR F v W o T L kg ® ol e
12 ms- Y T F A w0 T WM W TR
Tkg® 3R TR 5 el W T A Al w # oA
S WA 4 we! W1 AR A AT w F A, TE
FEH #

(1) 3ke

(2} 5kg

i3 7kg

i) 17 kg
I (2

™ E+ETE=6

= 1x12i+3x8j+F =0
B =—{12i = 16f)
Fymy12° + 167 = 20 kg ms™

E
Jwg-;'-ﬁkg
3

L]
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& Arod PQ of mass M and length L 1s hinged at end P,
The rod is kept honizontal by a massless string tied
le pomt ) as shown in bigure. When string is cut,
the mnatial ﬂ.I'IBtILI'lI' acceleration of the rod i=

L M
. R

o =i'E
2L
9. A small object of uniform density rolls np a curved
surface with an initial velocity v, It reaches up to a
3?
maximnm height of ‘I‘g‘ with respect to Hie indtial
position. The olgpect =

121 Sobid sphere
4 Dise

{1} Rang
{31 Hollow sphere
Answer (4]

!-ul.u=—2%_lz-

T4
-

o 2z

_ig|j1+:1'!-]

o
= 1+—5-=;

P -é:" — disc

8, U ¥ PQE TN M¥ 3 wEet weE LR
T w2 Py W AW oA T % T i EEd W
g, w2 F W 0w 9 vewe-fem 0w @
=l e wad B ofr ww ol W) s P
M &, o 9 unieE S S e

'é-t—

L M
MgT= TII

- l:l='2—E

L
o, fodl 2 ug = T owEEE R TR TER oA
AR W TR 2 0 R FW A #@ e 1
wmmﬁ!ﬁ%mi—i FAE AF
Lo Al i
(1 Fr (=)
(3} HFE T
I (4}

(2 BE A
{4y foew
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10. A body of mass ' taken rom the emth's surface to
the height equal to twice the radsus () of the sarth.
The chayge m potentbial enerey al body will be
{1} mg2R

2 R
2 3 Mg,
3} ImgR
4 l!-' R
i 3 1£:

Answer (2}
mgRh mgRIR  2mgR

All = = =

Sal. R+h 3R E]

11,  Intwnite muenber of bodies, each of mass 2 kg are
situated o xemas at distance 1 m. 2 m dm, B .
respectively, from the ongin. The resulting
Fﬂ\’ltﬂﬁ.ﬂnﬂl Pcl:mLi.nl due o this system at the
origin will be

B
L -G 2 -;G
4
[} _EG ) -4
Answer (1)
Sal U-—EG[%+—+—+— ]
1 I | 1 |
= _19[1 4.:...?4?_ |
1
= =20 - =G
| 1_1
R

12, The tollowing four wires are made of the same
material. Which of these will have the largest
extenmion when the same tension is applisd?
i1} LanI:h= 50 em, diameter = 0.5 mm
{2} Lenmgth = 100 con, chameter = 1 mum
13} Lemgth = 200 caan. diameter = 2 mum
4} Length = 300 e, diameter = 3 mum

Answer (1)

Sol. AL =E—L_.- L

E i mavinmm for option (1L

Al
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0. w AR CF T I W T S W (TS W,
e T (RiF @ I N A W
o o Tl el F e B

2
{1} mgIR {2 meﬂ
1
{31 JImgR 4] ;Jﬂgﬁ
T (2

e All= mgRh i mgRIR . gk
R+h 3R 3

11 W A o el ¥ uEE T 2 kg A

T W W, IF R A P im 2mdm
S ... [0 W o 1 @ PR F o, W R

W T AEE A
8
; -—G
i -G @ -3
4
{31 _E'G 4 =G
T {4

wmoVeoagililgdod
17271 s

Fiof 3 -1
R el £ P ‘
= —_I;.rll—ivl_:-}l"-l_-:jl ........ ]

= =M3 1_=—.IG

(=]

12, PRl T AR v W o oaw # oA i ow
WA AT T AW A, e A s T
ﬁ-ﬂT?

{1y W o W = 50 cm,
W W =R =05 mm,

2 7 F A = 100 cm,
W "M =1 min,

% 7 & A = 200 cm,
A FHAA =2 mm,

) W g = 300 om,
W OE AWM =3 mim,

(1)

W AL-SE R F R L s R
AY A
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The wettahility of a surface by a liguid depends
primarily on

{1} Viscosity
121 Snrtace tension
i3] Density

41 Angle o contact between the surtace and the

Liguid
Answer (d)

14, The molar specific heats of an ideal gas at constant

pressure and volume are denoted by CF and L"I

C'r
respectively. I T=E.'—' and R s the oniversal gas

comstant, then C 1 equal to

1
¢ i |

R
{r-1)

+

sl

i

L]

fr=1)

3l
¢ R

£ ¥R

Answer [2)

R
Sol.ckm

15 A peece of mom 45 heated ova flame, Tt first becoames

dull red then becomes reddish yellow and finally
turns to white hot, The correct explanation for the
above observation is possible by usmg

{1} Stefan'’s Law

{21 Wien's displacement Law

{3) Kirchofl's Law

i) Newton's Law of cooling
Answer (2]

Sol. A_T = constant

13 T W (ves) W R A e A e el
R

i1} WA T

i2) T T W

(3 W

i4) T T T E AW A e W
I 1)

14, o == T R e W R e T T e
fafsmer o F1 wAT r_mcp%f-‘ﬁﬁﬁmm

e
Biafy p=—alk g e P @ AL
W #

O

:
ar o

(2
ir=1j

f—-1)

3

4} ¥R

T (1)

-
i

15, A v T o e A (we) w ot Bem s
#1 T% A T AW, TR e e ol e W el
I A AR F| T T WA e W R

(1) A P

(2 4 F faenm Fm E

i3) s & P d

i) == & e P g
T 2

wE: A, T=FmE
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16, A gas s taken thoough thecycle A 4 B — C— A,
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as shown, What is the net work done by the gas?

16 TF W F T (9E) ¥ 70 W 5N A— B
— C— A TEFF T W AW WA E) A, oA

PLIO Pab form o A o R
= PO Palg
& 2] E
5 2 3
i (3 B
3 =L
2 A [= ar
1 : B
o e L 2 [
2 4 ] 1%
{1} 2000 (2) 1000 L el o s T
{3 Fero (4} -20007 (1) 20007 (2} 1000 T
Answer () i3 iy - 2000 |
S50l W = Area enclosed in P-V curve I
=%q5;lu_‘}v4;¢1ﬂ, T W o= PUEE § ol ST
. 103 52 302 = 2 x5x107 ndx10°
= 1000 ] :
=10 = ¥
17, During an adiabate process. the pressure of a gas
i1z found to be proportional to the cube of ity = 10007
c 17 PR v uwe ¥ o fe W T sEd A & oA
temperature. The ratio of == for the gas is (
G a3
() & e mm ow #, AT e R C.
4 .
w3 = &
a2 Wy ) 2
o T
: 3 3 (i 2
3 & 3 '3
4 3
EL Lt
Answer (1)
{ W FPaT
Sol Pl T,
V=
PV = nET P nikT
Pul?
P=T
P= P\
Pe [PV
P = copstant Bla
3 s
PV = constank PV = A
3 3
1--5 ==
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18, In the given (V - T) diagram, what iz the relation
betwmen pressures PI and F:?

{1 Py=P
2 P=R
L 5
{4 Cannct be predicted

Answer (3]

1

Pressure

Sol. Slope of the graph =

19, The amount of heat AORTRY rn-qutr#d to raise the
temperature of 1 g of Helium at NTF, from T K to

.?'1K 15
3 3
i1 EN.kE[Tz‘TJ:' @ SN k(L-T;)
3 - fe)
B TNRG-T) @ N B |
Answer (1)
f
Sol Q=<-MRAT
B kgN_AT
2 4
3 3
= —NJp|L-T) |=—N.E (I -T; |
8 &
. A wave travelling in the +ve T-direction having
displacement along g-direction as | m, wavelength
1
21 m and frequency of ; Hz iz represented by
(1) ¥ = smir - M) ) ¥ = =in{lxy - 2xf)
131 ¥y = smll0nx - 20t} (4) ¥ = sani2mx + 2nd)
Answer (1)

Sol. y = a sinfkx - o)

' 1
—t
n )

sm{E F=2n=
[ 22

sin {1 - 28}

15, =90 T (V- T) @, =9 P, p oA e
LU

{1y P,=F,
(2 BB
@) P, <P,
(4) Feifa =8 fEar w wam

I (3

1
B Wiﬁm-‘uﬁ

19, WEE A9 T W W 1 g HEw W\ oae T e R
14 A% W ¥ By aueor S S om

W #
3 o
11} EN,J.Erl'l—T‘.r (3 SN &L -T)
! 3 (T
B Nk T -Ty) i4) IMJ:;![?I]
()
f
BH: Q:Tuﬂ_-ﬂ'
3 1
F*:'\-L!N.ﬂﬁ-
3
= ENJEI‘-TE _T-_ |'%Nq1F|T: _TI ]

. e (+ve) «fFm ¥ W B B oW oW
yfom & s | om, O 2 mm ® T gast
ElED] %Hz # T W T B i A
(1} ¥ =sinlx - 2f)
(3} ¥ = sin(10my - 20me) (4) ¥ = senf2mx + 2ok

T (1)

(4] ¥= sanl 2T - M)

W i = sinlky - o)

T

2 |
sip| —x—2ex—{|
[ex-2ec]

sim (4 - 24

=
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2. If we study the vibration of a pipe open at both
ends, then the bellowing statement s not true

11} Open end will be anti-node

120 Odd harmonies of the hundamental frequency
will ba Eﬂnﬂ'a}n&

{3) All harmonics of the fundamental frequency
will be generated
4] Pressure change wall be macanmim at both ends
Answer (4]
Sol. At open ends pressure change will be zero.

12, A sowurce of unknown frequency gives 4 beats/s,
when sounded with a source of known Brequency
250 Hz. The second harmomnic of the source of
unknown I’:'m:lunm:}' Si.vn: five beats per sovond,
when sounded with a seurce of frequency 513 Hz
The unknown frequency is

{11 254 H=z
{31 240 Hz
Answer (1)

2o—505
Sl 'J-,u< h"‘:ﬂ

5 sl
24— 492 %71 beate

(2} Mo Hz
(4] 260 H=

= Unknown frequency is 254 Hz.

3. Twe pith balls carrying equal charge: arve
suspended lrom a common point by strngs ol
equal length, the equilibrivm separation between
them iz 1, Mow the shrings are r.iaf.d]t' :]mprd al
half the height, The equilibrium separation betwveen

' tanBy
Sol. £ =mgtand, —=—=
i Ff.  lang,

21 3F T AR e ¥ sl e ae A ee
ot T

(L) W R w we
(2) A A % fe s T g
(3 WA agA F Wi I
(4) 3 Rl e R s A
I i)
' e fad w o ol g dm)

1. ¥ T OF WA, 250 Hz 3A ¥ B e
i ¥ ang ufq e ) fger gee weEn #) aEE
A o A (R ), 513 He wefe E
el clco ol el ol nc AR
T
(1) 254 Hz ]
(3} 240 H=z (L]

TR (L)

234—508
b _{r< H‘" 513

Dy 21 Bia

240 Hz
260 Hz

o F W 254 He

23, wowd (fer) @ @ A (W) W W (a
am ¥ o wae aend AR () 3§ v R
# e W ¥ S A wen ¥ e G A
I T AR F oI awh T W e
iy Fr T F AT A 0 REE W I S
& 4 1 70 I

1 F'  tanB,
B F =mgtnf, L=——t
e e B

(10}
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M. A P and C are thiee pooits m a uniform electric
field. The electric potential =

(11 Maxumiam at A

{29 Maxiianan at B

{31 Mavimom at ©

{4) Same at all the three ponts A, B and C
Answer (2)

Sol. Electric field s directed aJn:mS dn-rm:l.n.g P-nl:cnh.l]
'I.?EI = V._ > VA

25, A wire of resistance 4 £ 13 shretched o twice its
original length. The resistance of stretched wive
wiould be

{1 20
2148
3 a8
] 18
Answer (4]
Sol B =160 (R'=n'R)

26, The mtemnal resistance of a 2.1 V cell whuch Bives a
current of 0.2 A through a ressstance of 1062 15

1) 020
{21 058
3 058
4) 100

Answer ()

02%(10+rp=21
21

104 ===x10
i

r=105-10=038

24 A BT C T veeAE TEE dm ¥ 9m R A
o o =1 R

(1) AW sfiregy #
(2) BW Her &
i3 CW R
(1) i T A B CW WA

(Y

wa frga a9 e fnm 8 afw fedfare &)
V> V.2V,

15 U AF 91 AN & O, S0 S TaEl e
@ A A Frmowm ot owm A AR W i
i'l'l'l:
1y 28
(2 482
i3 5@
4 1s 2

FH ()

™ K=-lel) R’ = w'R)

26, L1V OF AW, 10QF T R ¥ 02 AR
g W &, 3o A9 owr st i Een

(1} 0282

[ 0582

(3 oa0

(4 108
I (2)

E

= I=
R4r1

02 x(10+r)=21

21
10+r A 10

r=105-10=050
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X7, The resstamces of the four arme P, Q. Rand Smoa
Wheatstone's bradge ase 10 ohun, 30 olan. 30 ohun
and M0 ohon, respectively, The el and mbernal
resistance of the cell are 7 volt and 5 ochm
respectively, If the galvanometer resistance s 50
ohm, the current dravn from the cell will be

77, o e A (Ag) 99 9% e P QR AW
5% ofsing w10 0, 00 300 T oo
T I T (el ) THRE T A WD
5 Q#) o dErERET W Wi 50 o # @ A A
aifie R w1 AA AT

) 10A (B 0n2A (I} 1.0A (M 02A
B 01A 4 20A QLA 204

Answer {l'l mm

Sal L

100 100 w0
(=)
ik 50 T ; 4]
A= 12
404120 =2 0
= =30 uit
T 20-40 - 120~
FA
TV I=————— =02
o ———=02A =
(30+5)0 130+3]0 : .

28, When a proton 15 released fromy rest i a room 1t 2. 9 A T o R W R s d
atarts with an tmhal accelerabion Ay tewards wesk ﬁﬁl L i -'i'r e “Hﬁ“'l_ =R "u% "]ﬁﬂ‘[ ﬁ“ ﬁ
When it is projected towards north with a speed 2, #ﬂﬂmilﬂﬂ?uh*mhﬁ*
it moves with an initial acceleration 34, toward S R A ¥ A O e S A # o
west. The electric and magnetic tields in the room fooy ot imil a- Eﬁiﬁgﬂ'mm
o CER

m 2ma,
in —:““'ﬁf-—‘up 1) o s, 2 e o e
. ¢
L}
i 2, ! =
@ TEwest, T, e (2 T e ot s, R A s
2 i ety
T, Ml
3 —fl?-ﬂi-T. e, L (3 %—ﬁﬂﬂ *‘I.—mq"aiw T oft g
L]
m 3m
L _:Emt' ?ﬂtaﬂm 4 LR L
o ' la
E a
Sl #p =" E-TH L |
" 8
o i "
1 ﬁ=3"u
I
Syl = iy 4 e B = 3miy, - ¢E
= Jomay — T = Aty - Iy
= Jmay = iy
| B= 2%
i £

1z
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13 A curvent loop moa muagnebic Held

{1} Experiences a torque whether the field is
usniferu or son wniform m all enentations

21 Coan be in equulibripm m one onentation
3

Cai be i et i fwee ofientations. hoth
the equilibrium states are unstable

4] Can be in equilibrium in bwo orientations, one
stable while the other is unstable

Answer (4]

Sol. Parallel M - stable

Anti-paraliel M- unstable

30, A bar magnet of length | and magnetic dipole
momment M is bent in the torm of an arc as shown in
:I'.is!.n:r. nwlmvm.uprbeh:dq:ul:mnmmﬂwiﬂlt

o

A #
N/
‘.\\ f

wucr*/x
{11 A

3
=M
[l =

-

B =M
T
M
4 -
Answer -I'I]
Sol. M=mlL

rn=s—:
T
3L aM

M=mxr=m—="—
T

l=£-<r
3

Al A wire loop is rolated in a magnetic lield. The
frequency of change of direction of the induced

el =

{1} Once per revalution

{2) Twice per revalution

{3} Four times per revolistion

4] Six bmes per revolutson
Answer (2)

0. Tl g d@F W v uEr-ww ()
(L) W Y s (el ) e ()
T #, A A AT TEAAE w6 W
i) Tl v Teafy (wfafemom) @ w99 & W
#|

i3 F e § A W W e AR d A
e e B ¥

i) # el ¥ AgEE A A aFA T T
Hegee et A & sl g s

T )

A w S -
W £ - S

0. TF T () FF 9 W 7R @ e T
fxE -3 A0 #1 o @ s (Fe) 7 o
T AR T A & SR W A B owm A, e
A e ST A

WH: M=mL

|
L=—x=T

F=—-»

ﬂ.l’:mxr:mﬂaﬂ

n ‘.'

3. A W oF wE (1) B e i i e
B & v oftem (aw) § o W 4 om omR
(amf) @ B ¥ e o arf e 2

() =% 3N (7 3 aw
(3) = 4) = W
I (2

(13}
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32

A coil of self-mductance L 15 connected m senes
with a bulb B and an AC source, Erlg[‘l.h.u.-:.: of the
bailb decreases when

(1} Frequency of the AC source 15 decreased
120 Mumiber of turms o e coil 1= redused

3 A mpul::l!m.'u:\e ol reactance X._' - HL is inchaded
in the same circust

4 Am won rod 15 meerted i the col

Answer (4}

Sol. Z=R+XD = (R*+(22F

33

v i 4
f:E,p=Hz, al LT ZT 1L BL

The condition under which a mucrowave oven heats

up a feod item comtanung water molecules most

etficiently i=

{1} The frequency of the microwaves must match
the resomant frequency of the water mobecules

(2} The frequency ol the nucrowaves has no
ralation with matueral frnqunur? of water
molecules

13} Mlicrowaves are heat waves, so abvays produce
heating

4

—

Infra-ted waves produce heating m oa

MUCTOWAYe oven

Answer (1)

Sol. Elechromagebic waves.

3. Ratio of longest wavelengths corresponding to
Lyman and Balmer senies in hydrogen spectomm i
(1) i {2 =
. o B
7 k]
1) = N
3y P 4 Al
Answer (1)
. 1 4
Sal. 3 = =
1 3R
Rl 1--=
-3
1 __ 1 _E
1 1) (6] 58
R[_a ) Rl
Mo 4 SR
Ay OR 3B
L
27

32 TR T W F-UeReT LB me Al @ ¥ v

g o= B 9 v U W (AC) = A oE ¥

™ T S T g1 A () A W,

) v A (AC) SiF oA A A

{20 I A G g wEw Ty E A

{3 T TR o W WA K = X, Wi
1]

() ¥ A o o oo owE R A

e ()

W Z=yR+X]

= -.||'R= 2y

I-%.F-I’R, at LT ZT 1L Bl

33, el ¥ % Fre o ¥ T s (e )

S F A g WA e 9 o e

TET BT

(1) W T (W) F A, T S A
A W E A

{21 T T (WEREE) F A A e
1w af A o e E de

13 e T I A o w3
|

{4 TTERYT S ¥ A S A 3w
#i

I (L)

wa: A T S
34, FEEIAA F TIeTE d wwhe war anR e o=

i 7 TR W o R

2 5 =
{1 = ] 73
7 L]
{3 E {4 E
L = ! =i
L i 3_
R W
i i 1 M
‘B = = — =—
ERIFENE
L4 9 \ 30
M 4 R
by 3R 3
&
.

The information provided hers
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The half life of a radicactve sotope "X’ 13 20 years,
It dacays bo another element *1” which is stable. The
two elements "X and Y were lound to be mn the
ratio 1 : ¥ im a :nmpln of a Even ook, The age af
fhe rock is estomated to be

itment.guru

35, T e (ned) e o 9 ot ang
2097 #| Fafd w9 5 v A9 ¥ 9 @ oaE
#, A vt ¥ B SEm F X Wy W 3
1:7Omn s B A, EEW W sl ang

i
i1y 40 FeaTs (2 uEI_vm::
i3y B0 FeArs (4 100 FRATS i1y 40 “ & 'lﬂ'aﬁ
Answor (2) i3) sowd {4) 1o0@f
Sal. T (2
Nt N 11
N, B2 LA TR
3 T = = y
half lives, T =3x20 =60 years aml T —3.90-60 T
36. A certain mass of Hydrogen is changed to Helomm % T VRN B m ] ¥ W T ST i.
by the process of hasaon. The mass defect o tusion Ay v ¥ o 002 Y
reaction is 002566 v The energy liberated por u is R L 002500 u ]
{gaven 1 u = 931 MeV} A W oI FA G O 1w = 931 MeV)
(1} 267 MaV (2} 267 MeV {1y 207 MeV (2} 26,7 MeV
(3} 6,675 MaV (4} 1335 MeV 13 6675 MeV (4} 13.35 MeV
Answer (3) L LR ]
- (L0860 =951 .7
Sol. D.ﬂEEé::- 431 MeV = 2{;.? MeV e MeW = g WV
- BETE MeV = 675 MeW
37. For pholoelectnic enussion brom certant metal the 7. T " i g ¥ { )
cut-off frequency i= v. If radiation ot frequency 2v Hg "'_tl oz, T e W v W ¥ ﬁﬁﬂ'ﬂT
nnpringes on the metal plate, the masinm possible AR B A, A TeEE o EREAE T
w!n-cLI:_v of the emitted electron will be (11 15 the a'q h . {m ﬁqi";[ T FEE i’| b
elechron nuwss ) )
: i Ty
W {1
? (2}
L {2mm)
- Ty
) 2 g
P ||P'_" m
i
' 2
3 iy
3 Eili L in
'
@
W 2 e " N
4 m
I (3
Answer (3)
,
Sal. %um";“ =h2v—hv W S e N i
II}_;“. i ” rzhv
T = (= Ll o
(15)
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38, The wavelength & of an electron and ?.J_ ol a
photon of same energy E are related by

1y A, =il

(£ I‘\'r'-:
Answer (1)

i

i

@ ki,

2
3 j: }._, 'x.?'.P
L
A

38, A plano-convex lens fits exactly into a planc
concave lens. Their plane surfaces are pavallel to
each other. If lenses are made of different naterials
of retrachive nudices (1 and [ and B 15 the rado of
rurvature of the curved surface of the lonse:. then
the tocal length ot the combanation 13

35, o A TR A W 99w e (B AR
T e e, v R A, 6w
o

{1 -J-.Fr::.i.:: (2 '.ﬁ_P &k,
; R
(| I W T (4 "px:b_—
TR (1)

2mE
LML
" Tic ¢ F
2#!4}—

30, TE WA 399 AR T WEA MR S TE T
T W WA A 45 @ § E TEE TE A
& e ¥ AfE 39 S 6 WA & A
#iF p, ¥ m A & o9 oyt (a9 At 3w fen
RE @ e g o S i e

Ly = @) &
T B 1 — AL S Y| —
b [TRETEY 2y =zl b 200+t @ 2y —1a)
IR R
& 2 W —— o 2 R
(g —1g) (W=} (g —Hz) AR L
Answer (3) L
1.1
f=—%— f=-—1~+"l‘
f 5 y 5
R R R -R
o i n:_ g rl T
(=1 5 = (=) =1 tz=1)
1 (=T e -1) AL ol
?— =] - o f R R
- g =T=py +1 I [l S P
=] - =
I L |
R R
(18)
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40. For a nommal eve, the comea of eve provides a
convergmg power of 40 D and the least converging
power of the eye lens belund the comea 15 20 D,
T..'-=|.r|.3 this information, the distance between the
retoi and e commea - eve lens can be estonated to be

{1} 5em

2] Z5em

3 1467 em
4 15em
Answer (3
Sol Pu=40D+20D=6D

41, In Young's doublbe slit experiment, the slits are 2 ma
apart and are illumunated by photons of two
wavelengths 4, = 12000 A and A, = 10000 A Ar
whal nunimom distance from the commwen central
bright fringe on the screen 2 m from the slit will a
Laaght bringe from one mberterence pattern comeide
wil:hah.'.iﬁhl:fﬂ.nﬂwf:m the other?

(1) 5 wom 121 & o

3 4 # 31mm
Answer (2]

Ay _m 1200 6

ke m 1000 3

T_Jt]ljﬂ_ixllmﬂulﬂ“mxi
B i 2x107
= 0 aum

42, A paralle]l beam of fast moving electrons = ncident
normally on a naoew shit. A flnorescent sereen is
placed at a largs distance from the slit. It the speed
al the electrons 15 mereased, which of the follovwhg
statermenits 15 correct”

{1) Drffraction pattemn s mot observed on the screen
in the case of electrons

4. AFE T T FEm (e ) T afed o
40D T FEW F TR T A ST A A
s 0 p# W g A A F e ()
T4 FH # &9 W s @ R

(1}
2
(3)
(4l
I 3

5em
25em
167 om

1.5 em

WE: F=40D+20D=50D

100
fag

Fap
41, O F vE fEfeh we ¥ EREdE () F 99 oA
W 2 onm F| T A, - 12000 A T, - 10000 A
T ¥ wEE ¥ wEe (v Fen o
ofr ffesr 7 W A W 2w A, T A
¥ s w3 w, =REm F I 3
#1 St fel Ao (vE T & we) AR

(1} % [
(3) 4 oum (£ 1] 3 o
i
L ]
Il'l:ll.:l.l.ﬂ}":..
W . hm 1000 5

'1 D 5%12000%10°% x 2
d 2x107
= &

42 W el g T S e R,
ol ol T W e e #w EE E we
0 W T A 9w § Al e e
w1 331 Bm A &, el § @ e W s e
Hm?

i) TR & e @ w R i o e

=
{21 The angilar width of the central oasamum of
the diffraction pattem will merease (21 fER oA & 90 It 9 ﬂ‘hﬂﬂﬂ
{3) The angular width of the contral masioum veill ml
Claneae (3) SR I A S A e A
{4 L‘wmgul::ﬂ:aﬁdﬂlnfﬂwcmudmm“iﬂ i) i X f o 5 0 %h!]f = Ta'-i'fl
Answer (3] T (3
sol. T &l ' vl ad
(17
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In & p-type semiconductor, which of the following
statement 3 lrae?

{1} Electrons are |:|.'L.|||'|:||':i.1::;I carriers and trivalent

atoms are dopants

12} Electron are minority carreess and pentavalent
atoms are dopants

i3} Holes are minority cammers and pentavalent
atoms are dopants

4} Holes are muajonty carriers and bivalent atems
are dopants

Answer (3)

4.

In a comamon emitter (CE) ﬂm.PllEﬂhﬂl"lrl.E a Mhﬁe
gain G, the transistor used has transconductance
0.03 nibo and covent gam 25 I the albove ransistor
i replaced with another one with transconductance
0.02 mho and curvent gan 2. the voltage gain wall
be
I

(1 F.G @ 156

1
(3 =G

5
3 4 EG

nWER & aiEE B e A e A B

(1) TR A e e, T -
TN SR

(2) TR S NN A T T W
FaE w1 F

{3) B WEW WEE G A VSEETA W
aitr w1 #

{4 T TEAERn WET 9EE BE F T -
g srffes B F

T ()

.

fs awlems Srslw (CE) TOE WY A o
‘o wpE A Al (TR
0037 3T am AR o5 F) ofE o & ome
W UF A R o 3w BRr A e
I 002 T TE G 208 & S
war wf

{1 ;G

Answer (1)

Snl..ﬂ.LE‘-
'BR,

o2

=R

& g

G: S-r.

= Geg

G;= e
“ 003

b

-

-?:_-.

G

The cutpat (X) at the logic circuit shown in Bgnre

worll b

45,

2
i
3

e ¥ I w f hE () W P o e

A
5 o—

[

nl pE] o

[ X=AB

2 X-AB

(3 X=AB ¥ X—A+B
Answer (3)

Sol. X—AB=AB

) X=AB
B3 X=AB
T (3

W X=AB=AF

2] X=aAHR
4] X=A+E

MOTE: The information

provided hera is for Reference.

(18)
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46,  The value of Planck's constant 1 .63 = 10~ Js. The
spead of light is 3 = 10¥ nm 5L Which value &5
closest to the wavelength in nanometer ol a
qunnl'um af 1.13]1!: with fmq-mm':r afbx 'Iﬂ'j Fard

i 10
2] 25
{31 50
75
Answer (1)
Sal. 'r=%
) 3= 107 nms""
’ G105
= 50 1um

47, What is e maxtanoan ronbers of elecivons that e
be aszociated with the following sot of quantun
maanbers?

n=3l=1landm=-1

{1) 10 2) &
13 4 ) 2
Answer (4
Sol. Fact.

48, What is the sctivation energy for a reaction if ifs rate
doukbles when the temperature is raised from 20°C
to 35°C 7 (B = 8314 | mol! K°1}

1) 342 1] melt

{2) 269 kf mol™

31 3.7 k] melt

41 151 K] maol*
Answer (1)

Yo 2 et [mm]
2338314 293 = 308

g 0:301x2.308 8314 x 293 308
S

= 367 k] mol = 34.7 k] mal!

46, TE TEEEE W OWH o063 ¢ 10M ¥ F TRW OF
T 3 x 10Y nmost R 6ok 102 51, AR TR
T THE o SR e B A W s
# Wt W sfive iy 6RtT

1) 10
(2 25
(3 50
i) 75

T (3

47, T sz dem @ o s fEee e
A w7

n=31=1#m=-1

{1 10 2y 6
i3 4 i 2

T (4

T T

45, Tl sfelem o afFom w0 T S0 W IEE

= (=) It AR A9 wCHAICH AWT (R =
83147 mel? K4

(L} 342 ¥ mol

(2} 262 k] mal-?

(3 347K mat!

(4} 131 k] mol-
T (3

L -

K _ =T
ky

1HER| T, Ty |

T ez

log2= =

E [293- mﬂ]
2303 <5.314| 293« 308

_ 0.301%2.303 5,314 « 203 308
15
= 34,67 1] malt = 347 1] mal

E.

(15}
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49 A hydrogen gas electrode 15 made by dipping
Pl.u.li.nu.n1 wire in a solution of HCl of FH' = 10 and

by passing hydrogen gas arcund the platinum wire
at one atm pressure. The oxidation potential of
electrode would be

(1) 0058V

2y 059V

i3 0118V

(4 LISV

Answer (2}

0.0 1

Sal. E_ = log g

==039 ¥

30. A reaction having equal energies of activation for
torward and veverse reactions has

(1) AS=10

2} AG=10

(3 AH =0

) AH=AaG=45=10
Answer (3)
Sol. Fact.

51, Al 25%C melar conductance of 0.1 molar aqueous
sohibion of anurorsum hyvdrosxide 15 954 ohan™ em?®
mal™! and at infinite dilution its molar conductance
ts 236 ohon em® mol™. The degres of tonisation of
ammonnam hydrosxide at the same concentration
and lesnperabure 13

(1) 2.080%
(% 20800%
(3 4.008%
(43 40.500%
Answer (3)
i
Sal. Degree of ionization = ?_E %100
=—°-?‘;Em = 4,008%

10, wE EEREE fg e oifraw aw W el
WA & 10 pH I ¥ i T T8 9W FE L abm
W OEEHEA W U we g e iR e
ESE RN

{1 0059 Y
{2y 059V
3 0118V
4y 118V

T

0050 i 1

"‘.’Eiﬁ'=+1 F

= +L59¥

50, W WM W s affEm 9 afEe e e
4w wfwlE A& fae Fe & & R owd A
{1 AS=0
2 AG=1D
{3 AH =0
W AH=AG=a5=0

T (3

TH: TEIEE

51, I5CCHM W O FER FAT SR & A
frmrr At AR WA 954 ohin! an? molT 8 e
S A W T AR WAl 238 ohm ! om?

mal ¥ FA A A AT W A e
o g oo

1) 2.080%
2 20.800%
{3 4.008%
{#) 40.500%
G LRE]
™ I ST A= ::gk <100
i

_954x100

8 = 005%

{20
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cartain

i
()

‘71
Eased on equation E = -2178 = 1IJ'“‘]| ;:__

conclusions are written. Which of them 12 not
correct?

(1} The negabive sign i eguabion simply means
that the energy of alactron bound to the nucleus
18 Jower than it would be if the electrons were
at the intmite distance from the nucleus

12} Larger the value of n, the larger 1= the oabit
radius

{3} Equation can be used to calculate the ¢ in
energy when the electron changes ogbat

4} For =1, the electron has a more negative
energy than it does tor n = & which means that
the electron is more loosely bound in the

smallest allowed orbat
Answes (E1]
Sol. Fact.
533, A butbon cell used in watche: [unclions as
followring
Inlsh+Ag, 051+ H O l——=21Agl(s) *
In (ag) + 20H" {(aq)
It halt cell potentials are
Zoé* fag) + 2o — Enls) ;B =070V
AgOts) + HLO(l) + 2" — 2Agls) + 20H" (aq),

E°=0M7V
The cell potenhial will be
{1y 110V (2 D42V
i3 054V (4 134V
Answer (1)
Sol. Eog=Flgus-Els
=034 —(—-078)=11V

54. How many grams of comcentrated nitric actd
sofution should be used to prepare 350 mL of 2.0 M
HMNG,? The omwenbrated acd 18 70% HNO,.

(1} 45.0 geone. HNO, (2} %00 g comc. HNO,
3} 700 g cone, HNG, () 54.0 g conc. HING,

Answer (1)

) O« } =
Sol. M =V = Males of HNO, = 1000 =05

HINO), required = 0.5 x63 < 1;:' 5

2!.
nglqtmﬁaﬁ

P fod #, =0 9 i ol Al R
1) whEE ¥ e foe fem B oo SR
TR § gy oI w4 wW A o
TR A A =afEEE A sEA 18w En
{2) T o O W R (Larger) B T N
Fram qe=w i
{3) T W & Ee W FA W s e
# o T T T
4 n=1% B TR S s wmes S
BFll, o= 6| T T A ¥ TR WG OR
i W At feend & 90w A
F {4
TH: TE= |
53, ufEdl § 2 ¥ fvw 900 @ o w0 R

52, WHEAY, E=-1178 = 10"5]'|

Inis)+ Ag s+ HaO0 ) —= 2Ag(s) *

Zn* (ag) + J0H" (ag)

W i A e #

Zn™ lag) + 26" — Znish B = 076 Y

A, Ois) + HLOM + Jem — Thgis) + 20H- (ag)

E° =034V

= v A

i Liew (2] 042V

G 0BV 4 134V
T (1)

¥ Eim =Epgy -Eran
=03 -(-0F6) = LIV
54 20MHNO,F 50wl TR ¥ R am @fm
AR 3 T A W i A AT I 0%
HNO,F
(1) 45.0 g T HNO,
3) 00 g AT HNO,

(2 %0.0 gWiEw HNO,
i4) 340 gWET HNO,

I (1
B0x2 o
%V = HN = =05
T M x V= HNO® A = o
. B HNO, = 05x63x220 - 45
3 ;= 05 =158

The information provided hers

is for Reference.

1)
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MOTE:

55 The number of carbon atoms per unit cell of

diamond unit cell i=
i 4 2 &
36 1
Answer (1)
Sol. Fact
56, Maximum devistion from ideal gas is expected from
(1) Hjg) 2} Niigh
3 CH,gl 4 NHgh
Answer (1)
Sol. Fact

57, A metal has a foc lattics. The adge length of the unit
cell is 404 pm. The density of the metal & 272 g em™,
The melar mass of the metal is
{N, Awvogadro's constant = 602 * 10°* mal-Y)
{1} 40 g mel™
{21 30 g mol™
3 27 g malt
{4) 20 g maolt
Answer (3]

Z=M
VN,

Sol d=

4= M
{404 210789 w6002 107

0T

e 2724048 © 6,02 107

55, TOAT F W URF TS ¥ EE o o aen
B

(1 4 2 8
i3 6 i 1

R 2

T T

S0, @R A A s e S R e #
(1} H,if) (2) N,
(2 cH,fm i) NH,

T ()

TH: T

57, UF UH foc WFE ¥ OFF TS F FAR S
e 4d pm ¥ U RS 272 gomct B UMY
I W TR R
(N, FEE P = 002 % 10°* mal )
(1} 40 & moal-
2 Mg mal™
(327 g ool
4} 2 g mold
T

LM

™ d=
VxN,

d=M
(4041077 < 502 2105

270 =

ap o 272X (4.04)7 x 5,02 107!

4
4
=27 g/mal
=27 g/ mnl.

58, Dypole-mnduced dipole mteractions aze present m

Iﬂﬂn:hl:hfﬂinl:c.l]uwingpﬂ'tn’ 28, mmﬂ#ﬂ ﬂm-ﬁﬁﬁﬂg& .’H#ﬂf&ﬂﬂﬂ"

{1} HO and alechal (1) H,0 3 e

2 Ol and CCl, 2 il Ji oo,

{31 HCl and Ha atonns (3 HO 3 He ml"i!

{4) SiF, and He atoms (4} SiF, #T He 7019
Answer (3] T (3

o BoE- —
Sol. H -l w H-Cl- @ =

Ha Ha
(22)
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50, A magnetic moment of 173 BM will be shown by
one among the following
(1} [CulNHY P [ e
@ Tecl, 4 [cocl -

Answer (1)

Sal. :’cllE;lﬂ.Eﬁl: moment (1) = ...||nl:r|.—1'l
173 = Jnin+2)
n=1

Sa, conpound nmst contain e unpared electron.
The compound is [E'ul;:'\-l‘[!j*]h.

s0. T W @ fEw wiE @ ol A L7 EME?
(1) [CulEL) > T L

{3 T, 4 [CoCl)*
A (L
T T AT ) = fain=2)

173 = Jnin+2)

n=1

ww i #F vw wgfem el § oifrs

[CuinH) 1 #
WA F WaA W W x T e #oaw

60. Roasting ol sulphides gives the gas X as a by- o0,
product. Thas iz a colorless gas with choking smell 1'1'|ﬁ'l=|'r TR T A=Al ﬁ TR F MY IFE A
of bumnt sulphur and causes great damage to £ Al g gl o wEer T T oW neh sfy
respiratory organs as a result of acid rain. Its .qm # A fE s . ¥ smmam
aqueonts solution 15 acedic acts as a veducung agent e ¥ o = W ips
and its acid has never been izolated. The gas X is B T LE
i T T #) Ao
{1} HS (2) 50,
¥ $ {l' H.5 12 50y
(3 OOy (4} 50y, S =
- 3 Ty 4 50,
Answer (2) o -
E o ]
Sol. Fact.
T T
6l. Whech 15 the stronygest acad im the tollowing?
. : : ol P 4 & wham geeEw aw B7
1) H,50, ) Hoo,
1) H50 (2 HCAO,
(3 HOIO, ) B0, (- Hz30, i
= {3 HCO, (4} HS50,
Answer (3} z
- (R
Sol, Fact.
L TG B
62, Which of the fellowmg 18 paranusgsietic?
62, T W @ FiEw AEgEEeE B
{1y 0o .
{1) <O 2 oF
(3 N [ T
3 o= 4] N
Answer (2)
W (2
Sel. OF = It has one unpamed slectron. :
W O e T TR ST SRR A A
63, Whach of the lollowing structure i= similar to 2
graphita? o3, o W # e i § e e 8
{1y BN e {13 BN 2 B
3 B,C i) BH, @ BLC (4] ByH,
Answer (1) T (L
Sol. Fact. W TS |
3
The information provided here is for Reference. It may wvary Original
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td.  The basic strucharal wut of silicates 1=

(1) S @ S0t
3 siod 4 so
Answer (2)
Sal. Fact,
65. Reaction by which Benzaldehyde cannot be
preparad
CH,
(L} @I + G250, an O5, followed by H,OF
COC]
(2 Q/ + H, m prézence of PA-BasS0),
3 @ + L0+ HOL in presence of anhydrous AICL
CO0OH
[£4] U + Im/Hy and cone. HCI
Answer (1)
Sal. Fact.
aa. 11"11.“!:]1 n‘ l']"' :F-D“nwms l.'ln“ niot Elw ux:l.l'gﬂn on
heating?
1y KOO0y 2 1oy,
13 KO ) (NH ), Cr0-
Answer (4}

Sol. (NH, ), C0- =220, (T) + Cr 0y + 4H.0

67. Which of the following lanthanoid ioms is
chamagmetic?
(At nos, Ce = 58, Sm = 62, Eu = 63. Yo =70
(1) Ce* 2 Sm®
3 Eu® 4 ¥
Answer {4}

Sol. Yb** has an elactronic configuration of 4%,

08, Identity the correct order of solubdity i aqueous

medinm
(1} CuS>ZnS>NaS (2) ZnS>NaS>Cub
(3} NaSs > CuS>ZnS () Na,5>ZnS > CuS
Answer {4}
Sol. Fact.

itment.guru

o4, Taferbe &1 99w oA

1 sior (2 =OoF
3 sol W sof
TR 2
W TEIFTER

65, Heafeears e afefdm & =8 o9 o 27

CH,

i @’ + CaC, 1, 5, AT 7T H,O0°
COCl

(1] U + H,, Pd-BaSO, 1 Jufal #

el ®+co+ﬁmﬁﬁa AICL, T I ¥

COOH
“ @’ + Zn/Hg T FE HCI

TE 4
TH: TE0=FF
oo, TR A H ORI S W S AR A &

1§ K0, {2 ZadCIO),
3 Ko, 4 (NH LT,
T i)

B (MH, ), Cu0y —==aM, (T} = CnOy +4H,0
o7, R # T AR A e § Y
(TR A Ce = 58, Sm = 6L Bu = 63, Yb = 70)

{1) Ce™* (2 Sm®
{3 Ex™ (4) Tb*
T 4

W vbi-m e EEm e f
68, wen wmg # fe woad wer @
(3} ZnS > NS> CuS
(1) Na 5> FnS > CuS

{1} CuS>ZnS > Na,5
{3) Na5 > CuS > Inb
T ()

W T

The information provided here is for Reference.
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6. XeF, is isostructural with

{11 TeF, @ T
{3 5bil, 4 BaCl,
Answer (2]

Sol. ICIT (Same sunber of Ip dnd bp oo T}

70, Anexcess of AgNO, s added to 100 ml of a 0.01 M
solution of dichlorotetraaquachromsiuny{IIl chloride,
The nomber of moles of Al precpatiated would be

(1) 0001 {2) ooz
3 0.003 4 o1
Answer (1)

Sol. [Cr(H,0,CLJCL one tenuzable CI,
71. Which of these is loast likely to act az a Lewis base?

{1 Co & F
{3) EF, (#) PFy
Answer (1)

Sal. BF,, it is a Lewis acid.
72, EMnD, can be prepared from K.MnO, as per the
reaction:
IO + 2H, O == IMin] + Moo +40H"
The reaction can go o completion by remevang OH-
ions by adding
{1 H
{1 KOH
3 o,
i 50,
Answer (3]
Sol. Fact
73, Wlhuch of the following s electron-deficient?
11 (CHL,),
) {5y,
3 {(EH,),
i4) FH,
Answer (3
Sol. (BH,L, Diborane 18 elechon deficient.

60, xeF, R W 9 fawe W e

(1) TeF, @ 10
(3} Shal, i4) BaCl,
I (2)

W ICI; (T lp d bp 37 WEm e 6

70, 0,00 T TR TR 100 ml
fmem & Ao, A e B T A
i S e A A B

i) 0001 i 0.002
(3} 0.003 4} 0.0l
I (1)

WA [Ca{H,00,CL)CL T T T

71 B E W T S A i 8N 9 T SR
T F W AT

i) oo @ F
(3) BF, i) PF,
T (3

WW: EF, TF UF T W F
72 R AR F SR MO, F EMnO, T S
A &
MO} + 2H,0 == 2MnO; + MnO, +40H"
= #efEw W w6 A ol 3 W o
# fer e
i1} H
(2} BOH
i3 o,
4y SO
R 3)
W, Tl
73 B W A St e R
(1) (CHyl
(2) (S,
(3 (BH,
i) FH

1
F (3
WH: (EH,. TEEA TN A A

The information provided here is for Reference.
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74, Structure of the compound whose ITPAC mame 15 3-
Ethyl-2-hydroxy-4-methyhex-3-an-3-ynoic acid i=

74 T 91 Aoew TEAET IUPAC AW R 38
-4 e S e, e

A E W oA
w COOH )
i) COOH
OH
2 COOH i
(2) COOH
O
TEn ﬁ\cmn OH

3) ﬁ\cum—z
i) mm
H
T (Y

w:

W gl\CL‘DH

OH
Answer (2]

H
Sol. COOH

75 Which of these is not a monomer for a |'|:iEl'|

molecular mass silicone polymer?

COOH

75 HfrE @ w9 fAEE g # B fee A
# W e (A ) w8 R

(1) MeSiCl, (2) Dfe,SaCl,
M =X »
i3 MaSicl i P'i'ﬁi':La (1} .iPGI'-.—I, (2} MemCl,
13} Me 5] (4} PhSiCl,
Answer (1)
T (3
S50l Fact
T T

76. Which of the fnl]nwma statements about the
interstitial compounds 15 incormect?

7o, T O W W T s O & R A

{11 Thev retam metallic conductivity
121 They are chemically reactive
{3) They are much hardor than the pure metal

{41 They have higher melting points Hian the pruse
metal

e *7

(1) T i WA W o

(2 o wamtE A ST 6

i3 == wg W g A T sl wan B

(4} T WEAE WE W 9 9 after A A

Answer (1)
T ()
Sol. Fact
B TR
77, Wlach one of the tollowmg molecules contams ne
n bond? 77 PR AME K A W A o A R
{1 €0y i3 HO i) co, (B HO
3 50, (4 MO, (3 50, (4 ND,
Answer (1) o ()
Sol. Fact ™ TR
(26)
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78, Antsephics and disindectants either kill or prevent
B:'m\-ﬂ'l. of T OOT GATLISILS, Identdy which aof the
followring statements is not true

(1} A 0.2% solutson of phenol is an anbisepbic whils
% solatiom acts as a dismbfectant

12} Chlorme and Iodine are used as strong
desinfectants

(3} Dilute zolutions of Boric acid and Hydrogen,
Peroxide are stromg antiseptics

(4} Dusanfectants harm the hvimg Gssues
Answer (3)
Sol. Dilute sobutions of boric acid and H,O, are mild

arthisephics,

9. Among the following ethers, which one will
produce methyl alcohol on treatment with hot
concentrated HI7

() CH,~CH,—CH,~CH,—0-CH,
2 fHa—CH,—TH—G—EH,,
CH,

CH:
|

3 CH,—C— O—CH;
|
CH,

W CH, —CH—CH, —O—CH,
|
CH,

Answer (3)

CH;
|

Sal. CHy—C— O-CH,+HI—+
|
EH!

CHLOH+CHy —C— 1

CHy

Bl N}'!nn is an mcamPIp of

(1} Polyester {2} Polysaccharide
i3 Polyamide it} Polythens
Answer (3}
Sol. Fact.

75, bRt s el wEwe o BeEm we & oo
o W

o 3 & 5 ool ly e e
1 Fa oo Freem ofind & wfr 1o Reem
Foamradr 7
12) TR T FIETEE T R S A e i
i #)
i Wi T e Wi W oA e
el Eo I B
14 el SR w1 qEeE ol )
T 3
WA difE W T HO. & 9 e 9 O e

7o, P il ¥ O e T wE W d afefen I
Him v Y

1) CH,—CH,—CH,—CH,—O_CH,
21 CH,—CH; _cln —0—CH;,
CH;
CH;

3 CH,—C— O—CH,
o,

{4 CH, —CH-CH, —-O-CH,
i

T 5

CH,
|
W CH; —C— O—CH:+HI—
|
CH,
tH,

CH,OH+ CH, —C— |
sl 1

CHJ
s0. P o el e e 7
{1y Wy () i
{3 Wi (4) W
T ()
WA T |

{27
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51. The structure of sobuty] group m an organic
cotnpound 1=

CH
i H—CH,—
1 CHI;L—E'I

) CH,- :|?H—c1-l_.—::H.

(3 CH,—CH,—CH,~CH,—

L£1] ml? :

Answer (1)
Sol Fact

82, MNitrobenzene om reaction with cone, HING,/H,S0,
at 80-100°C forms which one of the following
products?

{11 1. -Damatrobenzede

21 1, 3Dindtrobensens

3 1, +Dimtrobenzene

14 1, 2, d-Trinitobenzens
Answer (2)

N0, N,

HINO,/H,50,
— N,

83, Some mul:n-d:i:l.'etl::i113 substituent: in aromatic
substitution are given. Which one 15 most

deactivating?
1) =CeN 2} —50H
3] —C0OH 4} —NOG,
Answer ({]
Sol. Facl

84, 602 = 10" malecules of urea are present m 100 mL
af its sohation. The concentration of solution is

1) 0. M (3 001 M
) 0.001 M () 01M
Answer (2)
602107
Sal. M-—"'”E”j =0.01M
1000

81 fol ol W § e W A A

CH.,
CH—CH,—
cH

(2 'C[—I.—fiH— CH,—CH,

(L)

(3) CH,—CH,—CH,—CH,—

CH.
(4 L_H.—t:_—
CH,

e (1)
L L

82 AR 50.100°C A9 W W HNO,/HES0, ¥
S T

(1) 1 2RI
(2} 1 3ErEAEEaA
(3 L 4 TR
4} 1 2 4TTETEAA

T 2)

NO, MO,
T RO HS0,
é] = NO,

23, TE WE-FEwE v W o & e
ol #, o9 ¥ wiaa w0 #fw o &

i1} ~C=N 7 -S0H
{3} —CooH i) —:»:-::;:

T )

TN AR

84 gfear F 100 mL A # T 02 = 1070 3
Fufers € 1o feme ot A wl

(1) BozM (2 001 M
(3 0001 M 4y 01 M
I (L)
6,02 = 10"
™ M:%:ﬂ.um
10

[28)

The information provided here is for Reference.

It may wvary Original



MoEE:

wwwW.recruitment.guru

83, Wluch of the followmg 15 a polar molecale?

{1} EFy (2} SF,
(3} SF (4} XeF,

Answer (I)

Sol. 5F; (e to presence of a lone pair of electron on "5
it has distorted geometry),

86. Which iz the monomer of :'\.'rr_'lpr\enr in the
following?

iy CH,=CH —C=CH

{7 CH,=C—CH=CH,
CH,

i3 CH;=C-CH=CH,
ct

4 CH,=CH - CH=CH,
Answer (3)

Sal. Chloroprens (CH, =C—~CH=CH, )
[
a

NO,

87. In the reaction —A, @\
Br

A s M.C™
{1} HgsS0,/HS0,
i3} HPO, and H,O
Answer (3)
‘ Ny
Er

NO, :
~Q =y
o
e

B8, The radical @—CH: is aromatic because it has

Er

12) Cucly
W HHO

(1} & porlatals and & wnpaired electrons

12} 7 portatals and & unpasred electrons

{3} 7 porbitals and 7 unpamred electrons

4} 6 porhitals and 7 unpared electrons
Answer (1)

Sal. bp orbitals and & urrpm.md elechrons contributes to
arcmaticity,

85, e & & wF gdm a A7

{1) EF, {2) 5F,
) SiF, (4] XeF,
IR 2

WH: SF, ('S'W UH THGH W A T f
wadt Py wafafy it #1)
so. P & Fsdm w1 wEes w37
i1} CH,=CH — CH=CH,
) CHy=C~CH=CH,
|
CH,
@ cu;.=c|-r:H=-:|-1:
a
{#) CH,=CH
I )

- C=CH

W TR (CH. = C—CH=CH, |
|

cl
N, Ny
87, =W SR ¥ —A i)\
Br Br
&
M.C
At
{1y HgsO/HSO, {2 Cufl,
) HPO,THO (4 HYHO
T (Y
NO, NO,
= Jroahn d
Br Br
NP

{3 7 p-HiES T 7 W A
41 o p-AiEET T4 7 T TR
I (1)

W Wl W op FEF U9 o 3P TR W OAEE
#i

{29)
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89, The order of stability of the following tantomeric
coqgronands 15

OH o
| 1]
CHy = C—CH, —C—CHy =

&) [&]
il il
CHy —C—CH, —C—CHy—
i
OH La]
| Il
CH;—C=CH-C—-CH;
I
i1} I=0>I {2) M=O>1
i3} O=1I>I 4 O=M=>1
Answer (2)
Sol. Fact,

90. Which of the following compounds will not
widerge Friedal-Cralt's reaction sasaly?

{2) Xylena
(4] Tohiene

1} Cumene

(3 Mitrobsnzens
Answer (3}
Sol. Nitrobenzens {—NO, i3 deactivating groug)
91, Select the wrong statement:

(4 4] hn-gg.rl.u‘ba: are similar in strechage, funchon and
belavsons

{2 .-‘amag;a.nule;- ditfer either m strochoe, fuswHon
o7 behayiour

{3} In Domyecetes bemale gemetle 13 smaller and

maotile, while male gamste is larger and non-
wiodzle

iy Chlmmydomoemias Exhibuts both iscgamy and
.\ru'susam:l.r and Fiicus shows COFZAILY

&0, TP e T ¥ e e

OH 'TT
CH, =C—CHy ~C—CHy—
I

o o
Il [I
CH; — C— CHy — C— CHy ==

™ g
CH, - C=CH—C—CH,
I

{1 I=-O=1 () M>T=>I
3 I=1=m ) H=Im=1
e (2)
TH: TEE |

op, T dftesi & & Fe wiEE-wEa AT 3R
# wE Ty

i1y i X A
{3) WEFHT {4 A
T3

WH: A (—NO, T P e #)
o0n. TR A EY
{1) TR TE, A =EE A R

{2 Py T, o m oEEw R R R fae
LR

{3) FOREW § W T FieaE 2R #@ 9
B ¥ we w ogwE wm oAlR wEe g

(4) FEEEREE T S EEEE A S T
® 3 v W F0 e #

T {3
Answer {7) 3
Sal. Camyoetes s ;Fﬂ)m\ﬂ
Ju Small Size & ; f
Large Size T W o
t =
“Non-motile Motile HE
{30)
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92, Whach one of the following 15 not a correct
statenent?

i1} Herbarium houses dried, pressed and
preserved plant speciniens

12} Botamical gardens have collection of living
plants for reference.

130 A musenm has collection of photographs of
plants and animals.

4} Key i= a taxonomic aid for identification of
SpeCinnens.

Answer (3

Sol. A museum has collection of dead remains of I:!ta.nl::
and amnals m preserved form

a3, hnsnmnu_-p conditiom with L'Lm1-ﬂn3|.-1|d.1rd gametes is
foranad i

ilh ﬂlJuru_l,rrImrumm P ] E;druxyn:

13} Violoox (4} Fucus
Answer (2)
Sal. | T
Organismn | Reproduction | Gametes
| SpEnogyTia IsOAmows MNon-mwobile
Visey | Oogametrs | Motile
| 0 -MNomemotile
Fueus Coganous ﬂ* “MWiotile
| 0 -MNen-mohnle
| Chilrmsydomamas) ATl thres Wctile Non-motils

M. Eesides paddy felds. cyanchacteria are also found
maide vegetative part af
(1} Pous (2} Cyas

(3} Equestitm (4} Psiiatien

Answer (I}

Sol. BGA =+ Anabarma cyenidas —+ Coralloid roots of Cyors
Fungi — Boletus (B} — Roota of Pimuis

—- My\c\nn'hi.z.ql roots

95, Megasporangiom 1= squivalent to

i1} Embryo sac (2} Fruat
i3 Nucellus (4} Cnule
Answer ()

Sal. Megasporangiam
Cwale — MMC — Megaspore

o1, fepedofign & | wiH- wEe W@ A R

) A # g, R R e e
LER

{2 TR IOE, =W F P oS e
e #

{3 AR, W S A A AR e

(4) FA W T VA O e e
#

FH )

W WA WEW AW SE S AT o S
WA e A #

03, TG AT T ST P TR A e E

(1) TR (2 PETERT
{3 W (4]
I D
o ] T THT
T g A
. o -
dw | A | ST g
d" - =
i g 5 - Ll
o | W A TS

CTRE =l ol - el e e AT
o wifE o & W W T A R

{1) e (1) HTEEE
3 iy (4) g
T (2

WA, BGA — IET AIERE — W 3 T A
TAE s AT (B) — WEA AR
— FEEAY W
95, IEANEN s e #
1) Y e W 2 A E
(3) damE = & (4) dawE
T (4
LU L
AT — MMC — TR

31)
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9o, Read the following statements (A-E) and answer the

question which fallovws them

{A) In liverworts, mosses, aud beme gametoplivies
are free-lnving

(B} Gymnosperms and  some ferns  are
heterospodons

{C) Sesual mp.mdl.nrhm'l e Frcus, Volnoxy and A![mgq:r
i3 oogamonus

(I The sposophyte m lverworts 15 more elaborate
than that in mosses

{E} Both, Poms and Marchmific are dioecious
How many of the above statements are correct *

1) Cus 2 Two
13 Thies 4] Fous
Answer (3}

Sol. In statement [V, the sporophyte of moss 15 more
elaborate than liverworts

Stabernent 'E — Piins is monoecious I:!Lunl:.

a7, Anmnﬁ bitter Enu.rd. nrastard, h.ri.n|.1.1. Pumpl:ln.
china rose, lupin, cucumber, sunnhemp, gram,
guava. bean, chaully, plum, petama. tomate, rose,
withama, potato, endon, aloe and tubp how maay
plants have hvpogimens Qower!
{1} Six (21 Ten
{31 Fifteen 4] Eighteen

Answer (1)

Sol. Hypogynous flower - mustard, bomyal, china rose,
lapin. sundenng, gram. beay clulls gpebmupa, tomato
withania, 'Pul,nta_. onion, alos and h.l].ip.

98,  Interfascicnlar cambium develops from the cells of
1) Medullary rays
{3 Endodermis
Answer (1)

Sol. Interfascicular cambium develops from the cells of
umedhallary rays,
99, In China rose the flowers are

(21 Xylem parenchyma

(4] Pericycla

{1 Acﬁnnmnrphlc h}rpas}muus with twisted
asstivabion

{21 Actinomoerphic. epigymous with wvalvate
assbyalion

3] Zygomorphic, hypogynous with imbricate

9n, Fdelam e (A B e sl T e B ws

I AT

(o) TR (O F) HE T R g
= WA

(B S A ww o Predergs o 8

() FIFA, FeAE At oAt ¥ fEt wwEs
HEEETE A §

it formrd (e w) W Frapaelir de & e
T ¥ T e R

(E) e T AR A e # 8

T & W RS e et #7

i) " iz @
3 7= (4) 9E
R (1)

W wE DA W w1 e Feed @ daepie
# s Fae a0 &

T E — W SR TR #1

97. ﬂﬁmw&ﬁnm#ﬁrwf@m}?ﬂﬂ
i, wf, T, FweE, W, e, @,
T, T, FEfe, 5, e, lﬁiﬂahwi'i
# o i & snirwEE T
() = i =
(3 T il HERE

T ()

T iAo - w, i, 7, e, e,
oy, A, ﬁgﬁmm ﬁﬁﬁm A, A, THE
T R

o, Fergeg m Tt w4 frsfes d #7

(1) ¥ R & (2} WEAN WS A
(3 WA i4) T
IR (L)
L. WMmﬁﬂﬂﬁﬂMﬁiﬁﬁh
1

59, A S (WA gEE) F g B A #7
(1) Forem e, sni=mEm T = (EAReE)
TR R
(2) P i, saiidir o s s e
(3) TEEE wERE, S T SR e

Asztivation o=
4] Zvgomorplae, epigymous with twisted (4) TEEE G, TG T s o
aestivation fa=ma
(32
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CE:

100. Lenbicels are myvalved m

i1} Transprraton (2} Gaseous exchange
(3} Food transport {4} Photosynthesis
Answer (2}

Sol. Lenticels are lense Like opemng in periderm
developed durmg secondary growth.

Age of a tree can be estimated by

(1} Its height and girth

(2} Bbomass

(3} Number of angmal rings

(4} Diameter of it hearhwood

Answer (3}

Sol. Number of annual nngs = Number of Years

101,

102, Seed coat 15 not thin, membranous m

(1) Mmze (2} Cocomat
{3} Garomidhnat {4} Gramn
Answer (2)

Sol. Coconut-Thick

Groundnst, gram, Maize-thin, membranous

103, Transaton state structure of the substrate tormed

dharaig an ensymatee reaction 13

i1} Transient but stable

{2} Permanent but unstable

(3} Transient and unstabls

4} Permanent and stable
Answer (3)

Sol. Transition state stuchire of the subatrate formed
riuri:n.g an onz_',':mah: reaction is transient and
unstable,

104. A phesphoglyceride 15 always made ap of

[0} DJL!Y a =aluraled .[ulh_,-' acid esterlied to a
glycorol molecule to which a phosphate group
15 also attached

D:n]}' an unsaturated Enl:l':r acid esterified to a
glveerol molecule to which a phosphate group
15 alzo attached

i2h

{3 A saturated or unsalurabed fﬂ“_v acd eslerilied
te a glycerol melecule to which a phosphate
group is also attached

id} A saturated or unsaturated I:a.l'l'_\-' acid esterified
o a phosphate grouwp which is also attached to

a glyeerol maolecule
Answer (3)

100, I O R

{1 e (Il =
{3 = M (4] T A
I 2

W T TEE § A e @ Eew e T
W ff @

101, B 3 A @Y W A e W R a ae
&7

(1) T S i W

(2 el &

(3 TP T W wEn A

4 T A ES = W
T (G
T TEF T # EEn = 79 0 e
107, TR S, WA e e

{1) 7R (2 A
T | (4) =
L L]
L o

AT, W, T -,
o3, TF TR AU F IR a0 e 3w
Eeer i
1) afn gy P
2) I T ae
i3 EfEE S sl
i4) PR R A
T (3
. vAEd e § e e 9 ol s
T A R A et T AR A
104, TR W A A
(1) Felier 3 & welge oF w9 e e
ek A il e @
2 Pl w3 velied oF w7 T WA
ot i ww o W T
(3) Tl @ A ORiE U WA W AEgE
w1 fomit vt s W walas = #
(W) WREE WE { A v a7 W g
e Tomd v Pl A i T
AL (3

{33)
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103, Pigment-contaimng membranous extensions in
some cyancbacteria are

{1) Heterocysts

{21 Baszal bodies

{3) Preamatophores

{#) Chromatophores
Answer (4)

106, A major site for synthesis of lipids is

{1) RER 3 SER
3 Symplast 4} MNucleoplasm
Answer (2)

Sol. SER is the site tor synthesis of lipids.

107, The complex tormed by a par of synapsed
hu.m.n\inﬁn-us I:I'I.I.'EB'!'IDSDII.WS 1= caﬂm:l.

{1} Eguatorial plate
{3) Bivalent

(2} Eimetochore

4] Axcnems

Answer (1]

Sol. Bivalent is paired homelogous chromoesome in
=vgotens stage,

The three baxes o thas diagram represent the thoee
major biosynthetic pathways m asrobic resparation,
Arrows represent net reactants oo products

108,

i 5 a1p
glicawe -5 ay _ll= Pathwray B !L;qu
1 +[pathu f.k{ |Patberay %f :

1

)
Adrores pumbered 4, 8. and 12 can all be

{1) NADH
@3 HO
Answer [2)

(2) ATP
() FAD" or FADH,

Sol. ATP is generated af substrate level mn ghycolysas (A)
and Kreb's eyecle (B) but through oxidative
phosphorylation in ETS (C).

109, The most abundant mtracellular cation 1=

(1) Na* (3 Ca™
{3 H* ) K
Answer (4]

Sol. EK* is most abundant intracellular cation.

105, AR § T R TR 9 3 e
(1) e
(2 BT T
(3) FE
(4) R EEE
T i)
106, T (FE) & wwmm w e g R
1) WEEHT, i2) WENT
i3) H i4) FewEE
TR i
wa: SER e wwmm = omm )
107 HAtA w9 A F T w0 g T e

=TT AN BT

i) e (%) TR
(3} i4) W
T (3

W R WAL R F e e e d

108, #E ¥ B T A9 w A gEr S HEn w
1 PR 323 #1 IV {Avows) TEA FERE
m 3R ) P e

i
wn ] A

453 129 aREnPET 9, 59w 8 e BY

(1) ThgioT= (NADH

i1 Tefefo (AT

3 HO

(4} oo YRoedloT, (FAD" 1 FADH,|
I (2

WH: ATF FEEFERE (A) T & 9% (B)F fFomm =%
¥ IOU9 B R ORiEE ETs (o) ¥ siem
wheifEimm & B T e by

100, FAH T FEREINE LA A W
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110, Draring seed germinabion its stored feod is
mobilized by

(1) Ethylens

(2} Cytakinin

3y ABA

4} Gibberellm
Answer {4}

Sol. Gibberellm imduees alpurone valls bo sserele anzyme
to break stored food in seed

Which af the following criteria dees not pertain to
tacilitated tramsport ?

111.

(1} Requireovent of special membrane proteins
() High selectivity
3 Tramsport saturation
(4} Uphill transport
J—
Sol. Dovendull mowednent

Net transport of molecales = from high cone. to low
conc.

112. The first stable product of fixation of atmosphess
nitrogen in legumuinens plants is

1 NO; (2} Ammonia
3 NO; 4} Ghatamate
Answer (2}
Sal. M * NH, ¥ NH—* INH.
Nitrogen  Dhmnde Hydrazne Aswonensa
113. Which of the metabolites is comman to respiration

mediated breakdown of fats. carbohydrates and
protems?

(1} Glscose-o-phosplate
12} Fruotose 16-asphosphate
(3 Pyrovic acid
4} Acetyl Coh
Answer (1)

Sol. AcrI'_r] Coa (X carnpmmd_l- 15 comumon ko mpci.rnl."i.m
mediated breakdown of fats, carbohydrates and
proteins,

110, 9/ HEEW & FHOW T A=ide WEe B m
T T e R

{1y v

) AEEE
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I )

v, RiE 9w ¥ W A e w5 F
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111, PR § 9 S A AEEE S SeEE A
R A AT R T

{1y fafemr wan @R #t sFETE
(20 FeT =
(3) SO A
4 Fed s
I (4
wE i A

S T A WOAE F= A A e we
LR R

12, WAEE TR anEE AR & i e
R TR SR WA

1) mNo; (2) Al
3 N i4) TEEE
T (2

N, — NJH, — N.H,— INH,
m;"hﬁ WA FEEEA i
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T A IV AR A A
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114, Whach one of the fellowmg statennents 15 correct”
{1} Hard outer layer of pollen is callad intine
121 Spodogenons tissue is haplosd
{31 Endothecium preduces the microspores
{4) Tapetum nourishes the developing pallen
Answer (1)

S0l Tapetum is innermost notritive structure of anther
wall,

113, Product of sexual reproduction generally generates
{1} Longer wability of seeds
{21 Prolonged dormancy
{31 Menww genetic combination leading to variabion
{4) Large biomass

Answer (3]

S50l Sexual reproduction generally generates new
genete combination leading to varation.

116, Meiosis takes place in

{1} Meocyte 2] Comadia
31 Gemnude 4 Megaspore

Answer (1)

Sal. The cells in which meiosis takes place are called
oy b,

117, Advantage of cleistogamy is

{1} Higher genste vanabihity
{2} Mere vigorows offspring
131 Mo dependence on pollinators
4] Vivepary
Answer |5

Sol. Clestogamous) closed flowers ensure cent percent
seed setting even m the absence of pollmators.

115, Monoecious plant of Clhara shows ecourrence of

{1} Astheridiephore and archeégomopliore en the
same plant

{2) Stamen and carpel on the zame plant

{3 Upper antheridium and lover oogonium on the
samee plant

{4} Upper cogomum and lower antheridium on the
T pl.u.n.l:
Answer (1)

Sol. Clwri 18 monoecions green algae.
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11%. Pensperm differs from endosperm m
(1} Bemng a haplod tissue
12} Havimg no reserve tood
{3} Eeing a diploid tssue

(4} Tts formation by tusion of secondary niscleus
with several sperms

Answer (3)
Sal. 5
_@m - _"E‘Ichﬁpm'ﬂ
Remams af mucellus | Taple fusion
Reserve tood Reserve bood
n 3n

120 Which of the tollowing statements is not true of two
genes that show 30% recombmation frequency ?

i1} The genes may be on different chromp=omes
{2} The gemes are tighthy linked
{3} The penes show independent assorbment

4} Il the genes are presenl on the same
chromozome, they underge more than one
CrOSSOVErS IN EVETY MeKsis

Answer (2}
Sel. The tightly lnked genes show 100% parental types
and 0% recombinants,

121. Variation in gene frequencies within populations
can oceur by chamce rather than by natural
selection. This is retersed to as

i1} Genetic fow (2} Genehe drift
(3} Randoo mating 4} Genstec load
Answer (2)

Sel. Variatiom in gene hrequencies withm populations
can occar by chance i called as Eerunh.c clrebe

22. If two persons with ‘AR’ blood group marry and
have sufficiently large number of children, these
chaldren conld be classified as 'A' blood group : 'AB'
blood group : ‘B’ blood group in 1: 2 : 1 rabe,
Modem teclnigque of protein electroploresis veveals
presence ol both 'A' and 'B' type protems in AFE
blood group individuals. This 5 an example of
i1} Codomumance (2} Incomplete domanance
i3} Partial domunance (4 Complete demmoniace

Answer (1)
Sal. Fhenotyps AI.B
Genolype I'T"

Antigen A+Anbigen B

Co-domnance

119, uftyerdm, e F o fim 27
1) T W FEE A
21 wad Wl e | oA
i3 T TP I T

4 FhmE =T & Wy aaE gEE & udie
B W T A

e

W [ fegrim b
drarreEn w0 saEm | e
T WA w7 WA
In In

mjﬁhiau%gﬂw == # = fav
e Tiean i | %Eﬁh%ﬂi?
{1y Wi o ol or B et @

{20 W WA F R

(3) W= AT W T

4 T A v & e e E A S o
aﬂ?ﬁtumqﬂ‘wﬂ sfirr aw e
L

I (2§

W TS g AW 100% I TEE T 0%
TR TR F

171, oF T ¥ FE A # T wE W

Bl ¥ AW WS O @ En T e
wafify P arm 27

{1) sy T 2 sl frasm

3 TR W (4] HFEREF W
T2
W F A ¥ faf=r s @ | o

#1 @ A e A )

122, AR WEE W 9w Pl e 8 e I
i e W A= A # A= o e
Toma o WA A TE W ARTE WE BT
ml:z:m‘:T |i\‘aﬂﬂga:|@“

AR ) A s F A A
iﬁ'ﬁ'ﬁfﬂ'ﬁé%?ﬁﬁfﬁﬁ AR T WE
AT # Faeme # | 9w e e i
(1) WE Wl 2] W e
{3) ST T 4 T Tt

T L)

W TR AR

T %‘
U A= E
m‘*ﬁm

The information provided hers

is for Reference.

37

It may wvary Original



MOTE:

The

wwwW.recruitment.guru

123, The process by which orgamsims with different
avn]u‘tn:mﬂ.r!.' hi:t,nr:.r evolre similar th'ln-l'_\rpil:
-?ldﬂ}'ltﬂ.titl:l.'l.ﬁ i ftesponse D a  Comuon
envirormental challenge, is called

(1] MNatural selection

{21 Convergent evolubon

{31 Noo-random evelution

{4 Adaptive radiation
Answer (1)

—

Sol. Comvergent evolution occurs in unrelated group of
organizms. It is the development of similar
fumecbienial structures but m wwelated groups.

124, The tendency of population to rémam m genetic
equilibrivm may be disturbed by

11 Random matmg

{21 Lack of nugration

13] Lack of mutations

{4} Lack of random mating
Answer (4)

S0l According to Hardy-Weinberg principle, allele
frequencies in a population are stable and 15
comstant brom generatiom o generation.

125, Wiach of the followmg Bt crops 15 besng growsn m
India by the farmers?

{1} Maize {3 Cotton
{3) Brugal 4] Soybean
Answer (2]

Sol. Et cotton 1z bemg grown m India by the farmers.
126, A good producer of citric acid

(2} Psevdomonss

(4] Saccharemmyoes

{1} Aspergillus
{3) Clostridim

Answer (1)

137, DNA fragments generated by the restriction
endonucleases m a chemical reaction can be
:npa.rn.‘brd. by
{1} Cenkrifugation
121 Polvmesase chain reaction
{3 Elechrophores:s
4] Restrection mapping

Answer (1)

Sol. DNA fragments generated by restriction

endonucleases in a chemacal reaction can be

soparatad by pel electrophoresis.
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125, Which of the followmg 13 not comectly matched bor
the organizm and its cell wall degrading enzyme?

i1} EBacteria - Lysozyme

(2} Plant cells - Callulase

13} Algae - Methylase

4} Fung - Chitinase
Answer {3)

Sol. In algae, cell wall 1s made up of cellulose degrades
by cellulasa.

129. The colomes of recombinant bactesia appear white
m contrast to blue colonies of non-recombinant
bacteria becanse of

i1} Non-recombinant bacteria contammng beta-
galactosidase

(2} Insertional mactivation of alpha-galactosidase
il fron-recombinant bactera

(3} Insertional inactivation of alpha-galactesidase
m recommbinant bacteria

4} Inactivation of gl}rrnsi&a;n eNZVmMe in
recomnbinant bacteria

Answer (3)
Sol. The colomes of recombinant bacteria appear white

in contrast to blue colonies of non:recombinant
bacteria becanse of msertional inactivation ot
alpha-galactozidase in recombinant bactena,

. Which of the following are likely to be present in
deep sea svaler?

i1} Aschashacteria (¥ Eubacteria

(3} Elue-green algas {4} Saprophytic fang:
Answor (1)

Sol. Aschasbacteria flourizh in hot springs and deep sea
hvdsothermmal vents,

131. Natural seservoir of phosphorus is
i1} Sea waler

12 Astamal bores

i3 Rock

() Fossils

Answiee (3]

Sol. Fhosphorous - Sedimentary cycle

Reservoir - Rocks
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132, Secondary productivity 1s rate of formation of new
orgamac mitber by

il] Producer

(2] Parasite

{3) Consumer

4] Decomposer
Answer (3)

Sol. Secondary productivity is rate of formation of new
organac matter by consumer,

133, Which one of the followmg 15 not ased for ex st

plant conservation?

{1} Field gens banks

{21 Beed banks

{31 Shifting culbwation

{4] Bolamcal Gardens
Answer (3]
Sol Shittng calbvation results mio deforestation
134, Kvoto Protocol was endorsed at

{1) CoF-3 (2] CoP-5
3 Cola (4] CoP-d
Agswer (1)

135, Which of the fc\ihr.ina represent miAsamsm muumiber
of species among global biodiversaty ™
{1} Algae (2} Lichens

{31 Fumgi (4] Mosses amd Fems

Answer (1)

136, Match the name ot the ammal (Columan 1) with one
charactenstics (Column II} and the phylom/class

{oolumn I to which it balonigs.

Column | Col 1] Colomn 111
(1} | Petromeyzan | Ectopasasite | Cyelostonnata
(2} | Ichitheiiids | Tervestrial Feptilea
(3) | Limnclus Body Fisces
coversd by
chatinoms
exoakelatlon

(4) | Adamszic Radially Poatlera
synmnetyical

Answer (1)

Saol_ P‘.?Emlr.'],r:ora “_umpru-v!l is ectoparasibe on fishes
belomgs o cyclostomata.

132 Fedms F=maa e em 9 FREAE e e
i

(1) T
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i3 T
(4) ITEEE
TR (3
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7 @ ¥
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134, T A= (W) W s e g oA

(1} CaP-3 (2} CoP5
(3 CoP- 4} CoP4
T (1)
135, AfFgr a9 fafner ® e wfead o sfiaw
e &7
(1) e (7 AR (dF)
(3 FPF (4) =7 TF
I (3
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137. Which of the following are correctly matched with
respect to their taxerwonee classibication™

(1} Flying fish, cuttlehsh, silverfish, - Pisces
(2% l:ml:i.puda. nﬁiﬁpedn. :Pm:lm'. '.'.-I:\Clﬂ'Fi.m = Insecta
(3} House fy, butterfly, tsatsefly, silverfish — Insecta

4} Spiny anteater, sea wrchin, sea cucumber -
Echinodermata

Answer (3}

Sol. Housetly, buttertly, tsetse fly, silverhish belomg to
class insecta of phylum arthropoda.

138. Which group of animals belong ko the same
phyhoan?

(1) Malarsal parasite. Amoehn. Mosquite

(2} Earthworn, Piavworm, Tapeworm

(3 Prawn, Scorpion, Lacust

4} Sponge, Sea anemone, Startish
Answer (3)

Sel. Prawn, Scerpion, Locustn belong to phylum
arthropoda,

One ol the representatives of Phylum Arthwopeda 1=
(1} Cuttletish

(2} Sibverfish

3} Pufferfish

4} Flving bish

139

Answer (2)
Sol. Silverfizh bﬂmﬁ: bo Pa'r..'tm arthrapn:l.l_
140, The H-zone in the skeletal muscle fibre is due to

{1} The atsence of myatibrils m the central portion
of A-band

{2} The central gap betwesn myosin filuments in

the A-band

{3} The central gap betwesn actin filaments
extending throwgh myosin filaments i the

A-band
)

Extension of myosin flaments in the central
portion of the A-band
Answer (3)

Sol. H-zone in skeletal muscle is the contral gap botwoon
achin blaments extendmg threngh myosin hlaments
m the A band.
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141. What external changes are visible after the last
meult of a cockreach nymph?

(1} Mandibles becomne harder
12y Amal cercd develop
i3 Eoth fore wings and hind wings develop
), Lobiins desidops
Answer |3}

Sol. In coclooach, developmment s paorometaboloas. The
nymph grows by moulting abont 13 times to reach
the adult form. The next to last nymphal stage has
wing pads but only adult cockroaches have wings,

The Golgy complex plays a mmor role

(1} In trapping the light and transforming it mto
chemical energy

2} In d.is\esl:m.s Fu:\nbei.m amd rubnhyﬂrﬂ!n-

142,

(3 As energy 'I:mrl::ﬁﬂ'r.i.ns m:gﬂmlle-:

4} In post translational modification of proteins
aned glyeosidation ab bpads

Answer (4)
Sol. Protem + CH'bﬁhjrdtdte.—} Glycosylation

Lipid + Carbohydrate —— Glycosidation

143, Which one of the following crganelle in the hgure
corvectly matches with its fenction 7

(1) Rough endoplazsmic reticulum, formation of
glycoproteins

{2} Golgi apparatus, protein synthesis

(1] GaJE: apparatus, formation of g]v\c\o]:lpu.ds

[EY] REHE"I m.:!uplum'ur reticulim, pu:nl'm'l mﬂ'l.ns.i:

Answer {4)
ER

.-—-""L“x\

RER SER

+ '

Sl Ribosomes  Ribosome -alsent

Protein synthesis Lipnd synthesize
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144. Macro molecule chitin is
{1} Nitvogen contadming polysaccharide
12} Fhosphorus contammg polysaccharide
(3 Sulpbur canlaining polysaccharide
4 Smmple polysacchande

Answer (1)

Sol. Macromolecule chitin is & complex poly=accharide
contamg amino sugars and chenueally modified
sugars (0.2 glucosamine, MN-acetyl galactosamine,
elc.]

145. The essential chemical components of many

COREYINSS Are
i1} Probeins
(2} Mucleic acids
(3} Carbolrydrates
4 Vitaomuns
Answer (4)

Sol. Essential chenucal compeonents of many cos=ymes

are vitamins, ¢, cosnzyme nicotinamide ademne
dimucleotida (MADT and NADP contain the vitain

THACI.
148. A stage m cell division 15 shown in the figure. Select

the answer which gives correct identilication al the
stage with its charactenstics,

(1) | Telophase | Muclear envelop reforms,
golgi complex reforms,
Chromosomes move away
from equatonal plate,
gl comnglex ot peesent.
Cell plate tormed,

o tochondria distri bated
be v een fwvo daugliter
cells.

Endoplasmae rebcu him

amd e leolus not
reformed vet,

(21 | Late

Anaphasze

Cytokmesis

(4] | Telophase

Answer (1)

Sol. Telophase is reverse of prophase.

tment.guru
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147, Select the correct match of the digested products
lmnans grven m cobamm I wath then aleoption site
and mechanism m column 11

147, F-1H 0 a0 A § A -3 S w1
W T T AT US WS- & e
famrT = g

Cohamamn | Column Il
i1} | Glycne, glucose Small mibestine, F ] T 1
active absorphion {1] | wemefam, Fﬂ?ﬁ T W, W
(2} | Fructose Na* Soall mtestine T
passive absorpton 7] | v e o —
(3 | Clycerol fatty acids | Duodenum, move as H
chilonucrons
{4) | Cholestercl, maltose | Large intestine. (3] | Fewtier, v 3wt awil, TR
active absorplion # w1 ¥ afy o ¥
(4] | wergiA, W wE T, A
Answer (1} T
Sol. Amine acids, monosaccharides like glucose,
electrolytes like Iva® are absorbed mto the blood by | F¥®/ (1)

achive transpart.

14&. A pregnant female delivers a baby who subfers from

stumted growth. mental retardation loww intelligence
quotient and abnormal shin, This 1= the result of

{1} Deficiency of indine in diet

(2] Low secretion ol growth hormeone

(3} Cancer of the thyroid gland

4) Ower sacretion of pars distalis
Answer (1)

Sol. Hypothyroudism dunng pregnancy causes defective
development and maturation of the growing boetus
loadmg to stunted growth

149, The fgure shows a diagrammatic view of heman
respiratory system with labels A, B, C and D. Select
the option which gives correct identification and

main henetien and for characterishe,

B S A, AEEaEs A T, T A
o~ WRFD Wi GF T W SEie we F

145, TF Wi = F v U U= W W Em oW @
Frsfy afz, WAl wzan, e difes avee v
I R A W #) T e e oEan?
(1 WER H W o
(7} o Bl T AR W A A
1y WEEE o W R
4 7 e o s

I (1}

wa: ier 9 erdoreinefes A afnbshs o
dmpd sl o e A 8 am o 98 e

149 fam ® W9 T -9 W O el e i w
# T W AnEA A B C @ DRT oW ¥ ow
1 Al T F AN I W w0
fafome & Fger = 9Fm

=
i Cet el of il
A
[Ling)
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i1} A - trachea - long tube supposted by complete

carblaginos mngs for conducting mspired ar

(2} E-pleural membrane - surround ribs on both

sides to provide cuwshion against rubbing

13} C-Alveali - thin walled vascular bag like

struwctures for exchange of gases

4} D-Lowar end of lungs - diaphragm pulls it

down during inspiration
3
Sol. A - Trachea
E -  Flearal membrans
Alveoli
Duaplwagm

Figure shows schematic plm of Blood crculatica in
humans with jabels A to D, Identify the label and
give its function/s,

e -
o=
150.

i

(L} A - Pulmonary vem - takes mpurce blood oo
bﬂd:l." pﬂ.rl:.. H'J: = bl mum HE

() E - Pulmonary artery - takes bload from heart
b hungs, PO, = %) oum Hg

13} C - Vena Cava - takes blood ren body pats to
right auricle, PCO, = 45 mm Hg

4} D - Dorsal aogta — takes blood from heart to
body parts, R‘l‘: = 05 pum HE

Answer (3)

Sol. A - Pulmonary vein fakes pure blood from hugs to
ledt atria,
E - Dorsal Aoria - takes blood from heart to be-d:.r
parts.
C - Vena cava - takes blood from body parts to
right surscle.

D - Palmonary astery - takes impiare blood from
heart to lungs.

(1) A -TEAET - TR E A WA A A 3 G
= P T A A TR A A e g
# folr gf =0 2
i2) B-gE - Pl @ 99 s A
e frt A o o= F Fw ool g
AR
@) C.wfrrd - B & fif 8 B owslh faf
TR IR AT
@ Dol w e fa - saERs & S
TR T AR AR # A A
T 3
W A FEEEEA
E- Wi
- T
D TEHH
150, Fag ¥ W & wiR o OO e e
=i # Pl =R Wil A9 DoE s B
g B w8 e W oW e w8 e & Free

1 g

(1) A -wowE f - Frsiledraie oo ) W o
“ﬁﬁmt. P‘D::mm'LHg
2) B-A Wl - iR F g W dwd AF
ﬂ mt ]"‘EJ!=ﬂﬂmu.1 Hg
3) C - - R A Wi a e oo ab
F o WH#, POO, = 45 man Hg
{4) D g wEneE - il F gEr S R e
7% 4 ®F ¥, PO, =95 mm Hg
T ()
B A TERAE ER-wwE 4y @i o oae e
o
E- T WA -EET 6 W S WA S T e
#
. WElE - A e e
[ WTEAT PET- EE W WO e E i
= #
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. The diagram given here is the standard ECG of a
motimal persen. The Pawvave represents the

E
P T
[ 2 ..-""'-"'\ o T

i1} Contraction of both the atma

2y hutiation of the ventricular contraction
(3} Bepinaung of the systole
4} End of systale

Anzwer (1)

Sol. In ECG, F wave represents the depolarisation of
atria which leads to the contraction of both atria.

152, Fuygare showrs homan wimary system with structures
labelled A to D. Seloct ophion which -n:hrnl-ct!_v
silentities them aswd gives thewr chasacterstics and/
or hanchons

g A

Urinary bladder

i1} A-Adrenal E,iu'l.d-]nmuwd at the anterior ]urt ot
Eaduey. Secrete Catecholamunes whach sbimalate
giveogen breakdown

(2} E-Pelvis-broad hunmel shaped space mmner to
hilum. directly connected to loops of Henle

3} C-Medulla - inmer zone of kidney and contains
comnprlets nephoodns

4} D-Cortex - outer part of kidney and do not
conbain any part of nephrons

Answer (1)
Sol. A - Advenal gland
Femal pelvis
Medulla

Coartex

itment.guru

151, WET W W W O A S (PR R
= e fr o ¥ - (0 S T #

R
r T
o~ Q N, o

{1y FHT AT AR & W f
i2) e & HEES w1 wa w T #
{3 TEEH W AR
{4} TEI W

I (1)

' ECGH paor wfwr & fnpm s awiE 8 9
wifFT & W & FE d

152, Fow oo o % W & WE-AE W mEe I ww #
fomit Tad AIF weaenall A S Do sEA B o

#1 78 feeg w1 ofer famd wf s & Am-an
T A A S F A

A

o
(Fidneyi

Ty
(Crmary bladder)

) A- dfirgws W (CBE) - TR @ o R W
fegsy, ddwimvd w1 wam el ¥ G A
F ATE 1 e
) B gEEA (i) - AP (s & AW
o1 FoF Tegm e SoEER s, B o A
T W qE A A
{3) C-WgW- JEF W WA #F T wy Ame
fouy o #
) Do - TR w A e e e W
Fré frmn T A
T ()
A -
E

c
D

ulr A
_'.Fa'.:s@ﬁ
-
T
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153, Select the correct statement with raspect to
locoanotion m humans

{11 A decreased level of progesterone causes
oaleopoross m old people.

{1 Aceumulation of uric acid crystals in jorrts
causes their inflmmomation.

{31 The vertebral column has 10 thoracic vertelwas.
{4) The jomit betwesn admcent vertebras 15 a fibrous
joint.
Answer (2]
Sol. Inflamnmation of jomis due to sccumulation of nie

acid crystals is gout.
154. The charactenstics and an exampls of a symovial
joink in humans is

Characteristics Examples

{1) | Fluid castilage between | Knee jomts
two bones, limited
movements

{2y | Fluid filled batween twvo | Skull bones
joints, provides cushion

(3 | Fhud flled symenaal Jemt bebween
cawity bebween two atlas anvd axcis
bones

4 | Lymph blled betwern Cliding joint
twn bones, lmited between carpals
micvernent

Answer (1)

Sol Joint bebween atlas and axis i= F\i'.'nt poamt which is
an example of synovial jomt characterized by the
presenoe af a Fuid Blled 't:_vnm'i.'l'l cawvity bobvaen the
arbiculating surface of the bwo bones,

155, A diagram showing axon bermimal and synapae is
ven. Jdently covrectly at least two of A-D

{11 A -]"mcnfltnr
C - Synaptic vesicles
121 B - Symaphc commection

D-K

wwwW.recruitment.guru

153 el & o & w i wl e ofw
i) TEEA & W R F FFm g e ¥
stz (A afe) @ aE
(2 oFw v & feAl & AR W rElE A oAe
o & A e #
(3 wiEE g ¥ 10 win e B b
(4} TEE T & @ 0 A R A A
#|
I (L)
W OE W F W T T W A i e
A &
154, Wl # s A o feeed ug ow FEmer gy

Tt AT

(1] | & =fea = A == T W iy
FTieT, AT i

(2) | % wfiET F &9 w0 WE, | w0 w1 s
TR A

3 | % wferd F A A= w1 | Teaw A6 HEm T
i ) A= %1 =Y

1) | & steow F A AERETH | ST S A e
il apn, i o i

T (N

WH: weW F U F A o Wy e A e #
Eore el Dl e pra AT e A
T AT F A WA T A A

155, Tl & AT TR AR P F Wi § A § T
O 7 WA WEA § 9 F 5 S S0 -
e

(1} A -
C - AT Wy
i E-feE we
D-E
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{3 A - MNeurotransmulte
B - Synaptic claft
{41 C - Nenrobranmsoter

D-Ca™
Answer (1)
Sol A Rﬂfﬂ'Fl"Dl’
B - Em.uph.c claft
C -  Synaptic vesicles
D= T
156, Parts A, B, C and [} of the human eye are shown in

the diagram. Select the option wluch gives correct
identification
charactenstics

alnnE with itz Functions/

rnds

{1) A - Retma - contains Fhvnl!n refl.-P‘h:!r:
and cones.

{21 B - Blind spot - has only a few rods and cones,

{3) € - Aqueous chamber - reflects the light which
does not pass I‘J.'I.II:H.IE"l the lens.

{4} D - Choroid - its anterior part forms ciliary
Ty

Answer (1)

S0l A -
B -
c -
B =

Eetina

Blind spokt
Aquecus chamber
Sclera

157, Which of the following statement is correct in
relation bo the endecrine system?

11} Adenchypophysis is under direct newural

121 Organs i the body ke gastrodntestmal tract,
heart, kidney and liver do not produce any
hormones,

Mom - mabrent chenucals produced by the body

at Erace amount that act as intercellular
messenger are known as hormones,

3

—r

14

—

Releasing and inhibitory hormones are
Frnd.m:'cd by the Pll‘mhﬂr\r B]..I'lnd_

(3 A - A
E - ffes
4 - T
D.Car
I (1)
W oA
E . MRl
C- forfize qfe
- Ca™

156. FFT A3 % AR W A B, CF D3 ¥ THw A9
LR B R SR DR R e
& FEeT = gEw -

W
" - s :
\ . "n
(1} A -¥Em - TREWE T (FE) 3T o
{9H) #H A

(3 B - we-FIE wE dae wed ol wE i )
(3 C -7 FY - I TEW F TEES 7 I
# T Fa A EE e A
) O - TR - (wiiee) - gEer s e
TEAM R A R
T (L)

W A

B su-fa=y

C- TR T

D- 9T

FAWA A9 F v F T o A A we-m

e Wi R

i1} Tl St & vue o o
e & S A

(2) =R T FE AT, W TS0 ™, ¥, T
T ol o WA @ I S EE

(3 WX FAT AW AW F I I I W W
T, W ATFINE s & W i 6
A ¥, vHA e ¥

4y FeaE ot WoE 3 TER w i ffeged
g g 3= A A

157

k)
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Answer (3]

Sol. Endocrine cells are present m different parts of the
gastro-mtestinal tract, e.g., gastrin, secrotm, GIF.
Atrial wall of our heart secretes a peptide hormone
called ANF I:.ﬁtli.\l Matriuretic Factorh, RI—[,"[I‘I are
produced by hypothalamus, Adenchypophy=s iz
not directly under seural control. it is under the
control of hypothalamie hormones, brought by
portal system.

158, Select the answer which correctly matches the
endocrine gland wath the hommons it secretes and its
function, deficiency symplom

Endocrine | Hormone Fauction/
glamd deticiency
symploms
1 | Anterior Chaytocin Stamialates
fpibuttary wherus
contrachion
dharmg
child birth
(2} | Posterior | Growth Charzecret-
rjhuhu.'t; Hormons Moy
(GH) stimulates
albmoramal
- grovith
[E}] 1'.|'|_1.r.rnu:1. m}wnxinn Lack of
gland iod ine m
diet results
m goltre
14) L'_'n!Pu: Testosterone Skl abes
lubeum IpenmAtog-
STNERE R
Answer (1)

Sol. Lack of iodine in diet results in gotlre.
15%. What is the comect sequence of sperm formation?

{1} Spermatid, Spermatocyle, Spermatogonia,
Spermatozoa

{21 Spermatogomia. Spermatocyte, Spermatozoa,
Spermatid

13) Spermatogonia, Spermatozoa, Spenmatocyte,
Spermatid

LC ] 5pnrmntagnma. Hpﬂrmatnv::.rtn, 5pwrmatid.
Spermatozoa

Answer (4]

160, Menstrual fow oomrs due to lack of

(2) FsH

4) Vasepressn

{1} Progesterone
131 Oxytocm
Answer (1)

Sol. In menstrual cyele, menstrual flow ocours due to
Inck of progesterone because progesterome maintains
endometrum for pregnancy.

I (3

W AT W F R v s i
A wAE E W WA, A, GIP.EER #E
# afe faf & T Ee wfiE B @
ANF (W Sfrgfes wew) wed 8
RH/TH FRIE § %1 71 oA T
= & i P § = o fe oo Eei
T B T T EEREET WA F R
B #1

156, F =t 3 & 9re TEE = =i el e oTEe
T/ W A O A T A e
ﬁ.

A oEE | E T T TR
afa
(1) | g i (T & O e
BT T TR -
TEE T T
wo #
2 |y afe W | s
Ffait {CH) T e gz
S| I I ... i o
3 | svrfer oy MIER ¥ iy
3 g F wEm
e () B
e #
i) | wria el | S
=afraw FhhT o
T (N

WH: FARE ¥ AR 9 T A

159, FEF-Fein = = o e 27
i) i, i, AR, wide (gEe)
(21w, i, el (), e
(2 s, sl (), e, e
(1) T, v, wir, e (3R

TN (4)

160, HFE-Fam B 590 F Fw A R
(1) ST (7 FSH [@RSATT)
(3 s (4) Feri

I (1)

WH: HFE W # A wE TR o R e e
# iy TeREA e 5 e ool 5 s
A #
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161. Which one of the following = not the function of
placesta? It

{1} Facilitates supply of oxygen and nutnents to
emilayo.

(2} Secretes estrogen.

i3} Facilitates removal of carbon dicscide and waste
material from embryo,

(4} Secretes oxviocin during partorition.
Answer {1}
162. Ome of the legal methods of birth contral &=

{1} Abartion by taking an appropriate medicine

(2} Ev abstaming from coctus boom day 10 to 17 of
dﬂ' D.WTISI‘I’I.I.IJ CT-"I:!B

(3} By having coitus at the tome of day break
4} By a premature ejaculation during coitus
Answer (2)

Sol. One of the legal metheds of birth control 15 periodic
abstinence in which couple abstain from coitus brom
day 10 to 17 of the menstrual cyele,

183, Which of the following cannot be detected s a

developing toetus by anmdocentess 7
(1} Klinefelter syndromme
(2} Sex of the fostus
(3} Do symacrome
4 Tamindice
Answer ()

Sol. Awmmiocentesas is a foetal sex deternuination test
based on the chromosomal pattern in the amniotic

thaid surrcunding the developmg embryo.

lad. Astificial insemination means

(1} Tramster of sperms of a healthy dones to a test
tube contaming ova

(2} Transter of sperms of husband to a test tube

containing ova

i3} Actiheial mtrodaction of sperms of a healthy
domed mito the vagna

4} Introducton of sperms of healthy domeor directly
mite the ovary

Answer (3)

1601, Frefafag o & ala-a s awm w o A0

{1 o1 ST s d IvEsn e ¥ A
ol

o W A T

3) 9§ A T T S e 9 A
e e T

i4) TE ¥ T AR A T
FEE i)
162, W-FEw (o w2 & e v fafy #
(1) IV iy EF e S

i2) E-TE # 07 A A e 0 d e oA e
T

(3) WA W
) W A A e
T (2
we: #af R 3 ol R sl wme @ e e

R TE A0 F 7 A S W e
= #

Lo}, TF RIS T O I (s 3w
Frafatim & ¥ frst wmam Tl = @ wa?

{1y TR
{20 T = T
{3 T T
{4y W (S
T (4
ww: v i & Fa Ffor @ olem @ oS
REFE Y AR A o T a eE
g o amafe #
Lo4. TR T | AR T A Y
1) T = = & qEEE w W o d
AR 3 A s e o
) o & g W e e
o e s deE A
3 =P T F gEat o wfe ol A e
T % 9 T
{4) =g TA F FEOTH W A wwwm o
7
L L E
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16%F, Whech Mendelian idea 13 depicted by a cross o
wldel 'll.n:-].:; generalion resemlles both U pavents

(1) Incomplete domninance
(2] Law of dominance
(3] Inheritance of one gene
4] Co-donmnance
Answer (4]
Sol. Co-dominance
Lob, The nworrect statensnt with regand to Hasmoplabia
(1) Ibis & sex-linked disease
(21 It is a recessive disease
{3) It is a dominant diseasze

{4} A single protemn wnvolved in the clotting of
blood 1= alfected

Answer {3)

167, If both parents are carriers for thalassemia. vwhich is
an autosomal recessive disorder, what are the
chances of pregnancy rmu]l'mﬂ m an attected child?®

(1) Mo chance @ 0%

(3} 5% 4 100%
Answer (3}
Sol. Thalassenua-autosomal-linked recessive

AA-Normmal

Aa-Carrver

aa Dizease

Aa x Aa

oA

AA
1 1

I'"-ruf"‘_

ot}
i ity
Atffected = I-b'-

. The diagram shows an important concept i the
genatic :.lnp!i.cnﬁun of DMA. Fill in the Blanks A to C

( DNA Lnﬁwﬁl*pfmﬂ';ﬂ;ﬁ.

(1) A-transcription, B-replication, C-James Watson
21 A-tranclation, B-transcription. C-Erevin Chargaff
(3] A-transcription, B-translation, C-Francs Crick
4] A-translation, B-extension. C-Fosalind Franklin
Answer |3}
S5cl. Central Dogma.

TMA %qﬂ_\'ﬁ' —Tmﬂ-ﬂﬂpmm%

165. T THET F 30 FA-A A AR e T
# Fommt ¥ 9 3 A T & e 20
(1wl T
(2 eI T e
(3) T W # ameiy
{4y -

T 4

T TE-THIEA

166 ¥R & W ¥ T m alw-m 27
(1) = A -EE R
(7} TE U AT i #

(1) TE TF T I oE
4y FE-TRaA ¥ BT 999 0w S TR
A #

T (Y

167. o FF A A SR, A oo sFEEE AT
frn #, & Fw oms & &1 ™ umw == 9 =
FarErt ¥ Fard ey wE Tl a=n b v

(1) FT§ AWERT TR () 50%
3k 25% () 100%
IR (1)
ww: A - A A A
AdTY
Aa- AT
d.u.if'rl'
Hax Aa
AA A an
i = 1
N C D
TfEe - i::s‘?.

165, Fem 0 3 DNA T T FAR 9 o e
TR IR B R Tl (A SRR O FF) ST
T T

| DNA Lm:RNALﬂﬂH“*.. X

(L) A-FIHER, BAHEE, A aRae
(7 AZTOEIA, A, C3EE S
(2} A-NFHEA, B IHAH, C A fFE
i) Az, bR, ciRfe dale
I (3
WE: feA (A e
DA T cpia EEVR Ghiiy SS fE
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164, Which enzyme/s will be produced in a cell in
which there 12 a nonsense mutation in the lisc Y
gera?

{1} P-galactosdase

{2} Lactose permease

{3) Transacetylase

4] Lactose permease and ransacetylase

Answer (1)

170 According o Darwin the organse evolubon s due to
{1} Inteaspecific competition.

{21 Interspecific competition.
{3 Compebtion within closely related species.

4] Feduced feeding elfeciency o one species due to
the presence of :i.n.tnrformﬂ_ species.
Answer (Z)
S0l Accordmg to Darwm, the organic evalution is due
to interspecific competition.
171, The eye of octopus and eve of cat show different
patterns of structure, yet they perform sioulas
function. This is an example of

{1} Homologous organs that have evolved due ko
convergent evaoluton

{2} Homiologous organs that have evolved due ko
divergent evolution.

3

—

Analogous organs that have evelved due to
comvergent evoluton

{4) Analogous organs that have evalved due to
divergent evelation.

Answer (3

Sol. The eve of actopus and the eve of cat (mamumal} are
EN’IL'D.I'P].E al ﬂlﬂ]ﬂﬁﬂlﬂ m‘sd.l'ﬂ bﬂ‘.‘dl.l:!!‘ “IE‘V dI'.F.EEJ.' m
the position of retma. In the eve of mamonal, retma
is inverted n pn:l.l:mn

172, Intectiom of Asonns usually occurs by
{1) Drinking water containing eggs of Ascris
{21 Eating impedfectly cooked port
{3) Toe-tse Hy
{4) Mosquuto bate
Answer (1)

Saol. Infection of Ascars ocours !'.ﬂ.r contamination of food
aned waber contamung egees ol Ascaris,

L6030 BT 9 WA, vaAnEs IEm B oEe P
o Y W PO 3eaiER @
i1} piEE
(2} TR
(3) g
(4} FeEETE R S R
T (1)
170, 2 F wgaR, W FEm o wem @
(1) 3 o e
(7} 3T wE g
(21 e wfia =R ® A wiend
(4] TEEM g 9 SEa F wEm vF =i
HE A A WA A
(D)
wa: wiiE F s o e sewarr dhend f s
Lo B
171, S & 9 T EEn F A F e e
- e T A § O TR
(1} AR ¥ W A B e B
zw#
(7 AT W W A e B S owwe e
BT ¥
i3) wEt s ow A e e & s Bl
AR
i) T # o A wEd R e e
wE
I (3
w: siedve § 99 3 bR () F Sm e e
F FAW ¥ I T 1 feafw
FePT-F B E O F AT e I fal
# #E
177, fam o7 e A fe g wen # 0
(1) Pl il d g w8 0w
(2 g S R 9w A qIW W AW W AW R
=R
3 A T
(4} W T FEA A
T (L)
W YRe = W W S T o A e e
eifrr & vy 93§

(52}
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173, The cell-mediated ity mwside the human body
&5 caried out by

{1} T-hrmphocytes
(3} Thoombocytes
Answer (1)

174, In plant breedng programones, the entwe collection
{of plants/ seeds) havg all the diverse alleles for all
EENes i a gven crop s callad

(1} Selection of superior recombinants
(2} Cross-hvbasdization ameng the selected parents
(3} Evaluation amd selection of parents.
4} Germplasm collection
Answer (d)
Sol. Germplaszm collection/ collectiom of variability

175. During sewage treatment, biogases are produced
which mchade

i1} Methane, hydiogensulplude, carbeon dimede
12} Methane, oxygen, hydrogensulplude

(] H?d.l\usmnljzhidn. methana, ELIJiﬂ.'Ll.I.I' dioxide
4} Hydrogensulplide, ndtrogen. methans

Answer (1)

Sol. Methane, €O, H.S, H,.

170 A binlnﬂi:t studied the Em[mlﬂ.tinn af rats m a bamn
He found that the sverage natality was 250, average
monrtality 240, mrurigralion 0 and emigrabion 30,
The net ncrease m population 12

1y 10 (2) 15
(3} 03 (4} Zero

Answer (1)

{2} Blymphocytes
(4} Ervilwocytes

Sol. Net increase in population
(E+ 1) - {D+ E}

177. Which one of the following processes during

:Bm:m.np-cr..cihnn is correctly descnbed?

i1} Frasml‘.nhm Carmied out by organismg such

s earthworm

Humitwcation - Leads to the accumulation of a

dark coloured substance humus which

undergoes mucrobial action at o very bast rate

2h

{3} Catabolism - Last step in the decomposition

unider fully anaerobee comnditon
45

Leaching - Water soluble merganic nutrents

rise to the top layers of sol

173, AFF TR ¥ S wie T e B e
OB
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Answer (1) m
Sol. Fragmentation 15 one ol the steps durning WA AT A wiew vE qw 2 P =
decompositaoit, m wheeh detritus 12 converted wnto j ] ;
small fragments. Tie = A v W
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178, A sedentary sea anemone gets attached to the shell
1|.|.1.-i.|'|5 of hernut crab, The association 1s
{1} Ectoparasitism 2] Symbdoss
131 Comnanvensakisa

Answer (2)

4 Amensaksm

Sol Facultabtive mutualism can be illustrated with the
mm.rnfr]n of =ea anemiona, which anl:: artachad to the
ahell af heqout cral. The sea anemeone grows on the
back of the crab. Frn‘u'.i.n:l'ms tﬂmnlLﬂaBﬂ & Fmbncﬁu.n
and. in turn. the sea anemone is transported about
reaching new food sources. This type of nutualism
is also called protocooperation.

179, Global u'ﬂ.n'm'.ng can be controllad h_\r
{1} Reducing detorestation, cutting down wse of
bossd] fael
{2] Reducmg reforestation, increasing the wse of
forzzil fuel
31 Imcreasing deforestation, slowing dewn the
growth of humean popualatien
{4) Increasing deforestation, reducing efficiency of
ENECEY TSAgE
Answer (1]

Sol. Reducing deforestation, cutting down wse of fossil
fuel results into reduction bulo one of the green
howse gas, Lo, OO,

180. The A Prevention and Contrel of Pallution Act
came info force in
{1 1975 (2 1981
{31 1985 (41 1920

Answer (2)

S0l ® Air prevention and Control of Pollution

protection act - 19581
®  Envircnomental protection act- 1960

&  Water (Prevention and Control of Pollution) act
- 1974
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=
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180, 7 W fier siw FrEm affe T A g
(1} 1975
(2 19831
{3 1983
(4} 1990

IR (2
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